!‘h_}'s_i-:'_s_: Soc_tinn:‘\___gq;_u_'_\'_n; |_|_“_3_§)__ _J

N |
In an ideal transformer. the tums ratio is —\—’- = 5
Ng
The ratio | % T'P is equal to (the symbols carry
their usual meaning) :
(1) 2:1 (2) 1:1
3) 1:4 @ 1:2

A tightly wound 100 turns coil of radius
10 ¢m carries a current of 7 A. The magnitude of
the magnetic field at the centre of the coil is (Take
pPermeabil;

(1) 44 Tt” of free space as 47 x10~7 Slunits):

(2) 44mT
(3) 4T (4) 44 mT
Ina uniform magnetic field of 0.049 T, a magnetic

nee
dle performs 20 complete oscillations in

5

nefg Fen;is ; sgShown' The moment of inertia of the

Magnetic m * 100 kg m2, If the magnitude of
moment of the needle isx x 10-5 Am?:

then the value of <y* is:

2777774
::2,:7“5
g B
"""" -5
(1) 1287 @) 50,2
o
G) 1280 n @) 5.2
'R

(I) 19 m the surface
(3) 99N () 198mN
(4) 19.8mN

A wheel of a bullock cart is
road as sht?wn in the figure below, If its line

speed is v in the direction shown, which one a;
th_e following options is correct (P and Q are ar?
highest and lowest points on the wheely
respectively)? " b o3 T ’

rolling on a leyel

P

v

Q » f ER 1 " \.' |
(1) Point P moves faster than point Q.
(2) Both the points P and Q move with equal
speed. - '

(3) Point P has zero speed. _
(4) Point P moves slower than point Q.

Rﬁ_BengalHEnglish |

: N
aafB oper stfa4Ged i B
L~

N
' ' s
o Vol l".e.,‘T""‘i"”(f“’fEj g [”’-i"":“l A4 45y Hhfy,,
(M 2:1 (2) 1
() 1:4 (4) 1:2

a#HfB wel Afaqsa payald AN 10 ¢ ;
syttt 100] 0fbte dA1231s] TA| 425y .,
(Sl (S S e (318 0BG (Bl g,
it 4x10”7 Slev®]:

1) 44T (2) 44mT

a#ft 0.049 T 59 (=5 (3L aBiB (Bl 31,
5 @atey 20 B sgof wrse #ger Fed fbaryg:
R TElFIE auiga@d qE 9.8 x 106 kg
qft (Slfla eI (BI=H FIAF X X 105 A

zs G4 ‘x ad AE

(D
)

4.5 cm ansnya @B 1G] AN JAFE G1FG
Ntat aaiL stz orem Haia ) Tl S 5=
0.07 Nm! x1 si=foitm e s ot c
ca )@tfﬁf’aﬁ A= g @19 Wi
198 N (2) 198 mN
(B) 9N (4) 19.8 mN

93 gz 1 smo o1 blad «ny &
A S et w(Rogae fbp 4o s v an

i?a_tv-a = Pt 31 (P g O anatn 61 s
W% 6 g EEW '

C. (1)) P Ryoy Q ad geiiN FE belne
(2) P aaz Q9w AwEo baig
(3) P lyeqa mib men
(4) P faej O 94 goen i beita

Qcollege{llﬂﬁa;
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: n
x=5sin| nf 4 — . ; ‘
If ( 3 ]m represents the motion of a

l’“ﬂ"fle mc“;"f“g simple harmonic motion. the
amplitude and time period of motion, respectively

arc:
e
(1); i3 Thaoh (2) Sem.ls

3 Sm. s 4 Som s

A bob is whirled in a horizontal plane by means
of a string with an initial speed of @ rpm. The
rension in the string is 7. If speed becomes 2 ®
while keeping the same radius, the tension in the

s.tfiﬂg becon‘lgs i

n L
(1) AT (2) 1
¢ 2T @ 7

re of length ‘I’ and resistance 100 Q is

l;v\;rclled into 10 egual parts. The first 5 parts are
octed in series while the next 5 parts are

g ted in parallel. The two combinations are

con::fzonnected in series. The resistance of this

ﬁnal combiﬂ&ti(}n is:

) 529 (2) 55182,

(3) 609 4) 26Q

¢ circuit provides the output ¥ as per the

A logi
following truth table :
A|B|Y
0(0]1
0110
1 [0 |1
1 (110
The expression for the output ¥ 15‘ bor, B ¢ 1
(1) AB+4 Q) B -
G 2 (@) 4B+A

The quantities which-have the same dimensions
as those of solid angle are : '
(1) stressand angle .

(2) strain and arc .
(3) angular speed and stress ‘
(4) strain and angle

i\

[{]

10

A stan enparmits S 1A 1A
v =5sj i n
3 JS8IN| nr T moats aeBa ong .

LIS Ittt 301 AL
(1) 5m.2s
3) S5m.ls

(2) Scm.1s
(4) Scm.2s

a#fs Pravid wegghis o @ rpm FIG HHISE
star ol ogd SR HIEE] Ziosl oo Bt
et T uwa Fi 20 Prg AP a3 7S Gns
oL Bitdad Wiel MYIEA:

(1) 4T (2) %
¥

3) 2T @)

P pEst w4 100 Q cAPIMTS a%iB oIAtH
10 & siwa @i HeF Fa1 =@ 34+ 5 & st el
ARANN @A *gEd 5 B e ANBATA ANANN T
4l =e1l AW GiewE SAEE el ARANA ST
el W SIfs ARANNF IR A
(1) 52Q (2) 55Q
(3) 60Q 4) 26Q

QBTG dARTd TTNF AT T Y ans ser aEkE
WOl AP0 2N !

A|B|Y
0(0]1
0(1]0-
1 (0|1
1 {110
Y a3z " 7A:
(1) 4B+4 2 B
(3) B (4) AB+4

ST (N (G1o-2FN1E ALPT LA AP AL AAE

@G ==

(1) “Nyat aa3g @19

(2). Pl ads 6I51(4059)
(3) @z Fit gz Ny
(4) 3l a3s @

[ Contd...
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T Athin spherical shell is charged by some source.
The potential difference between the two points
Cand P (in 1) shown in the figure is:

(Take =0x10° §1 units)
REn
g=1pC
(1) 1x105 (2) 0.5x 105
(3) zero (4) 3x105
12 Match List-I with List-II. |
List-I List-11
(Material) (Susceptibility (%))
A. Diamagnetic . x=0
B. Ferromagnetic IL 0>yg2>-]
C. Paramagnetic 0L x>>1
D. Non-magnetic IV. 0<x <€ (asmall
positive number)
Choose the correct answer from the options given
below: .
(1) A-IL, B-I, C-III, D-IV
(2) A-II, B-1I, C-I, D-IV
(3) A-IV, B-III, C-11, D-I
(4) A-II, B-III, C-IV, D-I
13 Match List I with List II.

List I ' List II
(Spectral Lines of (Wavelengths (nm))
Hydrogen for
transitions from) .

A, ny = 3to h = 2 L 410.2
B. m =4 to nl=2. II. 434.1
gl 1y =5to m= 2 III. 656.3
D. m=6ton=2 IV. 486.1

Choose the correct answer from the OptIOIIS given

below :

(1) A-III, B-1V, C-11, D-I
(2) A-1V, B-II, C-I, D-II
(3) A-l, B-II, C-II, D-IV
(4) A-II, B-1, C-IV, D-III

RG__Bengali+English |

12

13

anlt stroal N enass ARG Sl 5y i,

Weast sl @B, enatad wsra-Clads P (V) Pragg .

o 0 wp»

[ -r”'fr‘-'l'vl :

LR L _9x10” s units]:
dne,

(1) 1x10° (2) 0.5x10°
(3) zero (4) 3x10°
oifsie=a -1 g-11 =10
oiftra1-1 eiftrr-I1
(st (g7 afzol (1))
oo g . x=0
N G 0 Ozl
A= m. ¢ >>1
-5 V. 0<x<E€ (@sf®
o & HEISr ALm)
AT (et Braea #=:

(1) A, B-I, C-III, D-IV

" (2) AL B-I, C-I, D-IV

(3) A-IV, B, C-II, D-I
(4) A, B-IIL C-IV, D-1

olfEt [ v oifda 1 e

oiftrst 1 St 11
(mrBwwreere #Mida ( s¥=itnst (nm)
v Yol Yadierd we)

A, m=3tom=2 . 4102

B. m=4ton=2 . 434.1

C. m=5tom=2 L. 656.3

D. m=6tom=2 o IV. 4861

A& Toals fRidea #54 ;

(1) A-II, B-IV, C-II, D-I
(2) A-1V, B-III, C-I, D-I
(3) A-I, B-II, C-III, D-1V
(4) A-11, B-I, C-1V, D-11l

[ Contd.
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Given below are two statements :

Statement 12 Atoms are electrically neutral ns
they contamn equal number of positive and
negative charges,

Slﬂ“‘mf‘“' l! t Atoms of each element are stable
and emit their characteristic spectrum.

In the light of the above statements, choose the
most appropriate answer from the options given
below :

(1) Both Statement | and Statement 11 are
incorrect,

(2) Statement 1 is correct but Statement Il is
incorrect.

(3) Statement 1 is incorrect but Statement Il is
correct.

(4) Both Statement I and Statement II are
correct.

An unpolarised light beam strikes a glass surface

at Brewster’s angle. Then

(1) the refracted light will be completely
polarised.

(2) both the reflected and refracted light will be
completely polarised.

(3) the reflected light will be completely
polarised but the refracted light will be
partially polarised.

(4) thereflected light will be partially polarised.

1
16 The graph which shows the variation of [?J

" and its kinetic energy, E is (where / is de Broglie
wavelength of a free particle) :

1
(1) 2
% E
al
(3) 22
x E

1
@

T .

o E
@z /

TO E

17  Aparticle moving with uniform speed in a circular

path maintains :
(1)
(2

constant acceleration. o
constant velocity but varying acceleration.

(3) varying velocity and varying acceleration.

4

R6_Bengali+English |

constant velocity.
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e giv g0, T

Pagits | . MANY AN b (germ
l ' ' i P00y Fateat by,
Husl a9 HAUA vy mwqyg1a N n R
1 Mear
Pagfts 11 2 saitates cijpo R L {0V PP
# -!i i ey
AN ym1er 40y |

41 J'O:.If-'.g'

Yt [44itn a4

ANATEA 000, 4 [Ypsgon s o

A £, i.l roty o %
: LA e
1"10-.]"5 iﬂdllﬁ 4 h

(1)
(2)
3)
(4)

14916 1 a4r Fqfts ] W43 ya
faqftal a1f54 Py faqits () 94
1416 1 g4 Py Piqits 11 1554
fa4fts | a4e 1416 11 4235 1154

a#l® HANANG SIS 495 afB 4Thg G 4914
(Brewster) b1t #1:1floe z4 G

M
()

()

C))

afowitio e A9 Aade s

ulowfie o a4z dioAlae wnar 4232, sy
Ao =

yfomfde sl A9 ATAVG 504 94:
#isfae wien a4 Aadtioc e

#faniHe s s Ao =zl

1

Rr=i¥fG (91 @ diF [-,1_2) @9t O S1f" adrE)

E Afade mgin (W9 ] 9% IF FAE @ 3N

GRS
1 1
(1) 22 2 7
5 £ X E
L LR
3) ¥ @
1;) To E

qEH1d e NN wiots afofla e s sl
HOWAE =LA

(M
@
(€)
Q)

#A% BHol
g4 Aot Py sfsadele s34
siade e siftstast wde stRGaE £3
w% s1fatas
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22

Ifcis the velocity of light in free space, the correct
statements about photon among the following
are :

A.  The energy of a photon is E=hv.

B. The velocity of a photon is c.
C.  The momentum of a photon, p= h_v
c

D. In a photon-electron collision, both total
r gTIErgy and total momentum are conserved.
Chiss h";m“ Possesses positive charge.

s :t?t 1€ correct answer from the options given
8; A,B,Cand D only
3 -Cand D only

1 A,B,Dand E only
(4) AandB only

290
X2,y &
In the nycleq

. A== P— )
I émission stated above, the mass

Number ,
respectiv:?}f aa:g t:mc number of the product Q
) 286,80 (2) 288,82

In the following circui
\g circuit, the equivalent ca itanc
between terminal 4 and terminal B is : i )

2uF g
1 —
Aot FTHF' .

— B

2uF 25_'
(1) 1pF () 05pF
() 4prF (4) 2 pm

* The terminal voltage of the battery, whose emf s

10¥7 and internal resistance 1 Q, when connected

through an external resistance of 4 Q as shown
in the figure is :

4Q
VWY
N v
Cp. 19
— A
L — :
(1) 6V (2) 8V
3) 10V 4) 4V

If the monochromatic source in Young’s double

slit experiment is replaced by white light, then

(1)
by a few coloured fringes.

(2) there will be a central bright white fringe
surrounded by a few coloured fringes.

(3) all bright fringes will be of equal width.

(4) interference pattern will disappear.

R6_Bengali+English |

there will be a central dark fringe surrounded

19

20

21

| 22

xffy AT alfiard MG ¢ 531 Gy Ui,
g
Al ZA: !

A.
B

C.
D
E

(1)
(2)
(€))
(4)

82

290 X

L
crftstard M A £=hy |
ritea A c|
hv
it @A p=— |

Griel-Beeer A (S 1y oy, ,

seafise A1l
GEiBwEd IElE HEa

it
! ),

:FII.E'JF st Ri16a 4

YD A,B,C w4t D
g A, C a4 D
YD A,B,DyatE
Mg A ads B

-+ -
[ i e = ﬂ 0%
IY ’Z _’P'—i__ig

GfYE e Riedee giEnm O wg Tty
X

oirefiF A" AR FAMS I ¢

(1) 286,380 (2) 288, 82
(3) 286,81 (4) 280, 81
st qEENE ALSIF A 942 B Hogz wiy Gl A1,
A& 9
© 2pF 2uF
=i iI
Ao— +2}LF — B
al; il
2 uF 2uF
() 1pF (2) 0.5puF
(3) 4prF (4) 2urF

aFS iieifg ofyesr® 451 10V uds wwmd g
1Q afdw 4Q @itna s Ays s i
HBNNY [Hod s@trg W=

40
VAAM
Y . \f.
1 1Q
—-I, I—W-.——
JAor
(1) 6V Q) 8V
(3) 10V 4) 4V

uff Barsewa Prafea sty asae Be am 4
firea #fa4fde 391 =y o

(1)
()

(3)
)

; =
sl F10ar @) sifd  or sued el

Hrsig =G Nl
ait Tvee w4 s1id g ol sieed
Afsat Arsra w9 Al

ot Wewrel s1[®a (49 olel el

fn IR srsena Peanst WAl

(e
chﬁ:gnedunia;
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1

20

27

A hotlzontal fovee 1 N s npplled ton ok A na
r_;lll I Ligeire, | e g of Dlocke A niel 1 age
,' liu l'"ll' | '1-“, Fetne ”VI'IV: 'l Ill' 'H’Hl"‘-"l allle vy
i Irletlonlens surtnee, ) o foree exerted by block
A on block s | .

e N /
R )J -"l{l" Fhy
JIIIEELLEELLPEPIP PR PRPIIIIIINY
(1) 4N (2) ON
(1) N (4) rero

A thermodynnmle syntem In (nken through the
eyele ahedia, The work done by (he gas nlong, the

pth he In:

dl

’m Kl =" < i

b d e
100 kPa} == =1 ) 'u'l

) "

100 om? 400 om? 4
y—>

(1) 30 (2) ~90./
(3) ~00./ (1) rero

longation of a steel wire of I m
ength I the elastic limil of steel and its Young’s
modulus, respectively, are g2 10% N m? and
2% 101 Nm?2is:
(1) 0.4 mm

(3) 8mm

The maximum ¢

(2) 40 mm
(1) 4mm

The output (¥) of the given logic gate is similar
to the output of an/n :

(2) OR gate
(4) NAND gate

(1) NOR gate
(3) AND gate

Two bodies A and B of same mass undergo
f:nmplclcly inelastic one dimensional collision.
The body A moves with velocity vy while body B
is ot rest before collision, The velocity of the
system afier collision is v,, The ratio vy : v, is
(1 2:1 2) 41

(3) 14 ) 1:2

Rﬁ_llengnliﬂﬂngllsh |

2

24

26

27

et d 0080 404 A 1d s aate 10} mgeginn 44
:lu:m AL Al AN A aAr ) ad ad wAsan ) H
I d Wi ptim A e

=N /1
)J 1 Yy

¥
i il /!f/g ddiddddddddid
(1) AN (2) 6N
(%) 10N (4) 4

At sy mensig ahieda vamn Vaz sl o
Hatesed w810 oz 9tm ASNA WA 420004 WA

;F #
300 kia} - - - f— ¢
" A
II'PDH'l"" 'a ; ,h
T T T
y—>
(1y 30./ (2) -90./
(3) -60.J (4) =1

[ m' s aalt Boiad vildd AAM gaH144 2A-
o1 B Balorara v adr Hape gAre AL
g7 1O Nm2ua27” 10 N m 2 a3y

(2) 40 mm

(1) 0.4 mm
(4) 4 mm

(3) 8mm
una oftga A weHm ( Y) 4 tlva Gesing
sl

(2) OR vl
(4) NAND

(1) NOR ity
(3) AND i@

Mot a1 wedd yft 4o A aat B 44 uaanils i
Rosal1st 4 asaesl Firma 231l desiesra ed A ad 4oL
vy @4 B B2 olpaR ollte] AseH 1 & vtad
MfoeAm vy | v 1 vy UB, Olepitad M4 AL
(1 2:1 (2) 4:1
(3) 14 (4) 1:2

| Contd...
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Consider the following state
identify the correct nnf\:ci: :menls Aand B and
A.  For a solar-cell, the -V ch istics li
3 . - aract
5 in the IV quad_ranl of the given ;rr;;ll'fs e
. In a reverse biased pn junction diode, the
current measured in (x.A4), is due to maiori
s ;:sth.:firge carriers, ) ety
Is incorrect but B is correct
(2) Both A and B are correct.
3) Both A and B are incorrect.
(4) A s correct but B is incorrect.
- = — |
v i
A Ty
Solenoid - | Solenoid-2
In the above diagram, a strong bar magnet is
moving towards solenoid-2 from solenoid-1. The
direction of induced current in solenoid-1 and that
in so!enond-2, respectively, are through the
directions:
(1) B4and CD (2) ABandCD
(3) BAand DC (4) ABand DC -
Given below are two statements: one is labelled

as Assertion A and the other is labelled as
Reason R. ;

Assertion A : The potential (V) atany axial point,
at 2 m distance(r) from the centre of the dipole

_>
of dipole moment vector P of magnitude,

4x106Cm,is +9x10° V.

1 9 :
(Take 7= 219" SLunits) -
0 f

P ,
Reason R : V=————, where.r is thg
- dmeyr _
distance of any axial point, situated at 2 m from
the centre of the dipole.
In the light of the above statements, choose the
correct answer from the options given below:
(1) Both A and R are true'and R is NOT the
correct explanation of A.
(2) A istrue but R is false.
(3) A is false but R is true. .
(4) Both A and R are true and R is the correct
explanation of A, -

R6_Bengali+English ]
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sz (itgd Al P41 A ad¢ B soiaime 4, =
W [Are6e 4 '

L]

A. Ena witsd w@lr -V ernfbieg |y Ay,
Liied

B. pn SHANTH PG A6t oy 14, (s
aFF S YA AL A ey 5y

(1) AgaB A5+

(2) A @ B oxz #fss

(3) Awaas B Ywxz g

!"
]

I3

#55 (6w asf® BN 1Y g ArEay,,
i AEHAINT-2 97 F qIMG 20 gy
ofyesia® 9a ARENY-1 94s Atetey-2 3 gy
134 ©f =23

(1) BAwazCD (2) ABwaa:CD

(3) BAwa:DC (4) AB a@a: DC

e, 7f% fagit cronn onte: a3f® Rroonfy A g,

==t s R,
Rrsti¥A: 4 x 1070 C m Pt sa9 1% Py

- :
P @& (& 2 m 5E@ (r) mEn sisy e
Prowa (V) we +9x10° V1

o 9
(47 < =9x10" g1 az= wesar]

s R: V=% 5 WHIE r = @

dregr
tats afien e g (Quie s (@@ s
2m 5 wHfuo) )
Yertaa PigRovad SN Rivsd Faesifi (3 a9
Tl® Ritee 4.
(1) AwasR 52 & afF® 9ae R, A aF A3 0040

as

(2) AR+ gRg
(3) Awg« fag Rals -
(4) A adt R yR B afd+ udt R ” Ad

lran
MR g tinia
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At any tnlst:lrfl of time 1, the displacement ol any
article is given by 27— 1 (S1 unit) under e

in

instantaneous power is (in STunit):
(1 3 (2) 7

3) 6 (4) 10

Ina vernier calipers. (V+ 1) divisions of vernier
scale coincide with N divisions of main scale. If
I MSD represents 0.1 mm, the vernier constant

(in cm) is *

1
M oy P
1
@) 0@+D @ E

The moment of inertia of a thin rod about an axis
assing through its mid point and perpendicular
1o the rod is 2400 g cm?2. The length of the 400 g

rod is nearly :
(1) 17.5 cm

3) 72.0 cm

(2) 20.7 cm
(4) 85cm

ray enters throu gh a right angled prism at
angle of incidence 30° as shown
Is through the prism parallel to
along the face AC. The

A light
point ~ with the

in figure. It trave
its base BC and emerges
refractive index of the prism is:

(1 l?— (i) 2
5
3) ‘—?— (4) %—“

The mass of a planet is -I-la‘hthat of the earth and
its diameter is half that of the earth. The
acceleration due to gravity on that planet is:

(1) 9.8ms? (2) 49ms™?

() 392ms? (4) 19.6 m s

fluence of force of 5N. The value of
i ol 1

q"l

32

33

34

35

SN Wi st 1y Lpren v fr
AWM Al 27 - |
(STaata) vrosmg

' Bl O LG I 3 ) (T o ff y
0 (2; m_; Gt STaara):
3
(3) 6 (4) 10

PR RILI P [FTRE P )

LE S =

B @iRmng snlrsusr s (V ) enfifaa s
] | & ] < A1

N y& sista siesm Brear snsnl aals WA FBLaA

0.1 mm zeet xgfby @IRfa gea et (cm)

(1) 2) 100N

100(N +1)

(3) 10(N+1) (4)

10N

a3 s1% Aevd AMfEpE aqs ntevd @ SILHd
AT SIYT Pread e 2400 g cm?l 400 g M
& ntawd Tl 1N '

(1) 17.5cm
(3) 72.0cm

(2) 20.7cm
() 8.5cm

fstd an a3 sneFaa 30° SHoa (e u#fs
sweaif P P Prege sisifoe 23l Rrewad food
aPufs gt BC aF AAFHAICE 614 O AATNA AC s
s x| Brenna Fited AfowFEs 7@

B
(1) —2@ @ 4
5
o 2 w L ’

=it gz va sfAdE uiEd .110- st @ds @it Ans

AR AN SE AL a8 A ofoTNN P

HiA
(1) 9.8ms™ (2) 49ms?
(3) 3.92ms2 (4) 19.6ms™
[ Contd...
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Physics

t Section-1 (Q. No. 36 t0 50)

3 The pr [
36 The property which is not of an
wave travellin

(h

. clectromagnetic
& in free space is that :

the energy ity |
e cuu.rg\\ density in electric field is equal

nerpy density in magnetic field.

’ | I
they travel with a speed equal to [ C
they origj o

~ Ori@inate from charges moving with

uniform speed.
(4) they are transverse in nature,

The velocity (v) — tj
: —time (1) pl :
body is shown below - (1) plot of the motion of a

37

o= v(ms™)

1) —

The acceleration (@) -time (1) graph tt'nat best suits

this motion is :

&
>
1(H— 2) o

(1)

A
4

t(s)>

e

e

T o @

A metallic bar of Young’s modulus,
0.5 x 101! N m~2 and coefTicient of linear thermal
expansion 1073 °C-1, length 1 m and area of
cross-section 10~3 m2 is heated from 0°C to 100°C
without expansion or bending. The compressive
force developed in it is:

(1) 50x 103N (2) 100x 103N

(3) 2x103N 4) 5x103N

If the mass of the bob in a simple pendulum is

increased to thrice its original mass and its lengh
is made half its original length, then the new time

sa(ms?)

e —

38

39

X ., . — i
period of oscillation is 2 times its original time

period. Then the value of x is:

1y V2 @ 23
3) 4 @ 3
R6_Bengali+English |
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37

38

39

oty nigeat oftye GEAS BANSA A A
ur it ol 21 '
(1) ofys (md N s h1A Ly Ty,
A

I

ek aftsd DAl (b BUTE 3k
e wiA

1 AL 1A B G 55

(2)

3
“

a#le afeMa a7gd AR (v) — s () i
tAusl SR

o>Vv(ms™)

1s) —
o $39(a) — A (1) rafbuls o -

safms?)
s>a(ms?)

=

2.

r(s)—

Ll

—a(ms-?)

(4)

0

t(s)> ()=

0.5 x 101! N m2 252 g w45 Faf1% o3l o
niaya TalU® 21Ea etled = 1075 OC! a2
1 m ad: gosarE meed 10720 m?2 @ 00C m
100°C & 3o F41 =7 GANE gAEa 93 b w
He#16e] A0e1d A :

(1) 50x10°N
3) 2x 103N

(2) 100 x 10°N
(4) 5x10°N

9t el casied Prevd wd MAaliE 9l fsry
241 =a a4y 6iba it salE T W o

i % of oA Yl oA
it e Ake AEE 5 oalalibas

X a4 A&

(1 V2
3) 4

@ 243
@ B
ggqmgédunia;
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Choose the correet cireuit w
pridge balance,

hich can achicve the

A force fieﬁned.by F = out? + Bt acts ona particle
at a given time ¢, The factor which is
dimensionless, if o and B are constants, is:

(1) % (2) apt
o &/ @ P/

A parallel plate capacitor is charged by connecting

it to a battery through a resistor. If I is the current

in the circuit, then in the gap between the plates :

(1) displacement current of magnitude equal to
I flows in the same direction as I.

(2) displacement current of magnitude equal to
I flows in a direction opposite to that of I.

(3) displacement current of magnitude greater
than I flows but can be in any direction.

(4)  there is no current.

An iron bar of length L has magnetic moment M.
It is bent at the middle of its length such that the
two arms make an angle 60° with each other. The

‘magnetic moment of this new magnet is:

M

W = (2) 2M

M
® 5 ) M
The minimum energy required to launch a satellite
of mass m from the surface of earth of mass M

and radius R in a circular orbit at an altitude of
2R from the surface of the earth is:

2GmM - GmM
M 3z @) 3R

5GmM
(3) 3R . 4) 6 R

11

40

41

42

43

44

(1)

3)

HHS 4SNP4 el s,

P a1 yres Si[=8

@B qe F=ou? + Pt w@1eEl a#ls wmy 1o aald
Bolld O BFE #0al A o 91t B ogas mn o
A i MR == A S =m0

m %% @) apt
@ ¥ @ P

At e ANO HEHBD a#fB BE w141 9B

e W olifye $41 el At ofye A [ zw

Gt4 HICERA T -
(1) Tangera Pranse gz 1 ed sifegey gaifzo =@
(2) 1anera fsansa garg 1 i Fsidlo eifeges

. gafke aEl

(3) 1 anera cuea ) Braanistat g et wiftases

#a1fze Al
4) ey fge g4 A =il

Lt was M s gras s usi® e aeoe

TN QTSI AT = A6 5 Frd 300t i dited

Hq1e 60° =l
QB G B (OIS FIEd Wie 304

M

i 5 @ 2M
M

@ B @ M

M @393z R s sl 5155 (A m TTET 9o

a0 AN 5 (s 2R oo aHl 30w st
Fto AARIE (7 SFE ATAIEE O [

2GmM GmM

0 @ 5z

Gnld, | SCmM

& S 4) "R
[ Contd...
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IF'the plates of'a parallel plate cnpncilurcunncclcd

to a battery are movedl close to each other, then

A. the charge stored in it, increascs.

B. the energy slnrmi in it, decreases.

C. its capacitance inicreases. -

D. ih:r:“rntm of chakge (o its potential remains the
same. ()

E. the product ot‘c_h'argc and voltage increascs.

Choose the most appropriate answer from the

options %ivcn below:*
B, D and E only

A,Cand E only (2
E3 A,Band C on]i %4; A, B and E only

T|1'{1f0||0\\flll graph represents the T-V curves of
an ideal gas wherb{l‘ is the temperature and V'
the volume) at thtée pressures Py, 7, and P

compared with lhoseofp Charles’s law representea
as dotteg lines.

1
J" P
o ,‘//‘
V— ;
Then the correct relation is:
(1) R>A>Ph 2) B>A>85
@) R>B>PA @) B>PB>A
Two heaters A andf:ﬁ! have power rating of 1 kW
and 2 kW, respectively. Those two are first
connected in series#nd then in parallel to a fixed

power source. The ratjo of power outputs for these
two cases is: ;“’

1) 2:9 L Ez 1:2

3) 2:3 e (4) 1:1
A sheet is placed on a horizontal surface in front
of a strong magnetic pole. A force is needed to :
hold the sheet there if it is magnetic.

hold the sheet there if it is non-magnetic.
move the sheet away from the pole with
uniform velog gly if it is conducting.
move the shéet away from the pole with
uniform veloéity if it is both, non-conducting

. and nonmpol?ﬁ .
Choose the correc!‘?%atement(s) from the options

iven below:
f A, C and D only

1) AandConlys} (2
3; C only & %4; B and D only

A small telescope has an objective of foca! length
140 cm and an eye piece of focal length 5.0 cm.
The magnifying power of telescope tor viewing
a distant object is:
E]% 28 “j EZ} 17

3) 32 _ iy (4) 34
A 10 pF capacitor isconnected toa 210 V, 50 Hz
source as s%own i figure. The peak current in

the circuit is nearléﬂn: =3.14): .
—HE L

C=10puF .

_@__

210 V,50 Hz
(1) 0.93 4 (23
(3) 0354 (4

9 owp

12

46

o

48

49

50

sift s a1 $110 Wldid NGB A At
wllell B3l a4r viad Ao A AW Al 531
sttt oliEa Snk Ay !

A.

B, i sma A gy

C. by Ayt .

D. wiser B fA@iAd EHIG st fa4it4s 91404
. onse g [Meidd 'linfir-«t ANl

Riestaffal (it IS Gt e b
(1) nﬂ:ngA,CM:E (2) ~yne B,Da4 |,

(3) Ty A,Bmaxc_@) A A, Badf,

s (b o W1, 1 T-V @ ta91ib 131y,
T =at GIs1aIg] @4 P zghpiiaod aivd P, {’2 91 p
G5t el LRBAl @l”,l;r?{'.',r.mj VTAEv] ﬁl[?ﬁ'j[fnl blafl,
A1 ofiepe HAl {’?"iﬁélr.l.{l @i B T,

=B o 4: /
W () A>A>h

P,
'."Pz N
G T A
V—

3) A>h>A
A @d¢ B it o151 ﬂ@é‘{éﬂm Aot 1 kWaa: 2 kw

() B>P>AH

apTh a1 el AN a8 i1 YA St
aslt RIS e s Ya w41 =@l 92 53 oug
WOl AT DIFATGIR LA

51; 2:9 mZ; 1:2

3) 2:3 s 4) 1:1

a#i® wig@lis ol aFlb 61T A1 AR 94s oy
HIHGEH a;'}ra 1A e 3T ASHIE O 9 el

BCHITST - -
A. & siEltes aaieE 9o ik oE sl ey

7o =3
B. & smal®i# IApAel 140 ik 18 B1Faf
ael=s 20l
C. rafta spat =(fBLAeer (31 (o0 it ST el
xfiy Gral® sifaai=) =l
D. i uF da-Fes1FTads oAl 93 O bladibe
A AAftte Mg el
Rited fagesrfir (i oifrs Toal® ([@es @
(1) 759w AwdzC 5 (2) 59w A, CeaD
(3) mpysus C “(4) wgmw BuazD
9FB =S gafle S oRIEE iR et 140 cm
94 wifereed e met 5.0 cml g PG Arddie
4qNata [H3He w3ol 3! :
K

5 % @ 3

s Tbwieiicd @@l [0-fF sis aafd 210 V. 50 Hz
Bewid ey M 41 =l 4Gy e A

=3.14
(‘JL' +Ill
+11--
C= 10 uF
-2 0 V.50 Hz
l 1o.sﬁg 2) 1204
fs% 0.354 54) 0.58 A

| Contd...
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@@' Section-A (Q. No. 51 to 85) :I
The compound that will undergo Sy' reaction
51 with the fastestrate is

Br
w{ v oy

CH;

) @A B ”,(4) O/\

!l;

The highest number, qflu.hum atoms is in
52 (1) 4 u of helium
2) 48 of helium Z':b
o 27]098 L of helium at STP
(4) 4 mol of helium

[n which of the I‘ondwmg processes entropy

increases? GO

A. Aliquid evapordtes to vapour.

B. Temperature of falcrystalline solid lowered
from 130 K to 0Kt

C. 2 NaHCO:aéf—)NﬂzCOs{s) + COz(g) + Hzo('g)

D. Cly
Choose %I?le correc% answer from the options glven

below:
(1 A, BandD (2) A,CandD

(3) CandD ~(4) A and C

53

54 Intramolecular hydﬁen bonding is present in

“) HO £ 37

NO, )
@ Q/ -
(3) HF

Ol 3
4
(4) s

55 The energy of an <?ctrr:m in the ground state
(n—l}forl-le ion is=x J, then that for an electron

in n =2 state for Bé3* ion in J is :

- {42
(1) =y 2 (2) —4x
® -3 (@)
et

56 The E° value for thég n3*/Mn2* couple is more
positive than that of-€r3+/Cr2* or Fe¥*/Fe?* due
to change of
() d*to d2 conf‘gli"mtlon
%) d4 to d° configusation
E4) 3 to d5 configaration

) dto d* configuration

Ré B . .
~>hgali+English ] | 13

52

7

54

55

56

=i (J) S 2|

21 1310 prsirag o - T
P 3l Milatin ?-,HI A stsnrn 44143

(1) O—Hr (ﬁ UFir

CH, (e
(3) @/Kljr ..,(’4) O/\HT
HLA1SG S IEALE ] E‘:{r._in"rl AT A 1310s,
(1) 4 umfEnm =
(2) 4 g =

(3) = 6151 B GG 2.271098 L iR
(4) 4 et HiEanm <

Nebd ta1el steafsre m%%)ﬂi gfte sz ?
A, a3b o9 a:ﬁqﬁjﬁﬂl
B. @it wie ﬂ_{ygﬂra oiae 130 K (a6
0 K to @us #=1 2310
C. 2 NaHCO;.(—>NayCOs) + COyg) + HyOg
D. Clzfg)—)’z Clg
b maa faaesefy caws Albs Yo [H6e F4:

(].) A,Bua:D (2) A,Caa:D
(3) Cua#eD "‘L;'ci}) A @42 C
onsEAEIES IR EyITe @) agH s
NO£H
1 £h
(1) T ok

NO,
@) Q/ -

./ HO
(3) HF

@ @[ NO,

giiod i (n=1) é* wiNEd BrasdeE ~iE

—x J | n=2 %y Bef{@nﬂma asfB Brazgrs

i

) % (2) —4x
4 "]
@ g%’ W@ -x

Cr3t/Cr?t an Fe3+fFe2+?3 etetist Mn3t/Mn2* sjsieerd
E° et Wiiaod seiield j1 Aia3s8es sl of SIAUH
(1) d° cas d2 Peeinsi{ 43

(2) d* tai d° FEms

3)  d3 ta d3 REns

(4) - d5 tats d* Rt

[ Contd...
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57 A compound with a molecular formula of Collyy | 87 €l oot st s sfh e

has two tertiary carbons. s IUPAC name is: QNI AL A1) 0 [UPAC o4l ma:
(1) 2-methylpentane (1) 2-Dendaies

(2) 2.3-dimethylbutane
(3) 2.2-dimethylbutane ’
(4) n-hexane 3)

(4) n-tzee

(2) 2.3-omdl HEEC IR
2. 2w B A i

S8 Given below are two statements:
Statement I : The boiling point of three isomeric

pentanes follows the order 58 e qf® Fqfts A
n-pentane > isopentane > neopentane Pefs [ Roaf® sotield tuedeerd Spbati=n o 4
Statement 11 : When branching increases, the oregtder Fd O A

molecule attains a shape of sphere. This results

: . ioe > RIS eBa > Riusiiesa]
in smaller surface area for contact, due to which sk w12

the intermolecular forces between the spherical Prgfts 11 : menisa DG, e @] omratig o,
mctlecules are weak, thereby lowering the boiling qida Ftdl @ Bee AT GLeld (SRGWel HL 3131 5,
point.

errESIFTd S EE wqeAr ABAHS 45 He 5y

In the light of the abov
g ¢ statements, choose the FpBer=s #tH Al

most appropriate answer from the options given

below: Osgaa g sigeRd oS e avs Praestay
(1) Both Statement I and Statement II are e AfSF Tod e w4

incorrect. . -

Z 1) fafs [ aq: FHgfs 11 wB, g«

(2)  Statement I is correct but Statement II is () : h

incorrect.’ (2) fafs 1A%+ frg Refs 1 g=
(3) Statement I is incorrect but Statement II is (3) Pafs I g« g FHals 1 A%
- correct. : (4) Prafs [ aas AR 11 Swwa s
(4) Both Statementland Statement [1are correct. ¢

59 Identify the correct reagents that would bring 59 deen wmAmEE G ARE s sym Biso b

“about the following transformation. , | O_ CH. — CH = CH. —>
' : 27 : 1 7.
CH,— CH = CH, - ,
(—cm g ()—cH,-cn,-ciio
(_)—CH,-CH, - CHO | O @ BH,
. : Q
M @ Gy 1,0, /S

BH,
(i) Hzoz/ OH | (i) PCC
' (2) (i) BH;

(iii) PCC

(2) . (i) BH; . o
. /@ o L (ii) H202/0H
) Hjo, /o ' (iii) = KMnO,
(iii) alk. KMHO4 ] : @
(iv) H,0° (v) H;0

(3) () HO/MH* = o (3) () HOMH*
i), PCC 4 - (i) PCC

(4) () HO/H* (4) () H,OMH*
(ii) CrOs £ - (ii) Cro,

R6_Bengali+English | 14 [ Contd...
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which plot of In k vs -lL is consistent with
Arrhenius equation?
& / )
Ei =
" @)
T g 15
T
T _
: ¥ w 2 /
— =
® T— @ =
ot 1
T 7 T
The most stable carbocation among the following
is:
CH
& L
C
]) AR
( _ CH, cHy” by
5 -
@ CHz
CH,
CH,
Match List I with List 1.
List I ) List IT
(Process} (Conditions)
A. Isothermal I. No heat exchange
process
B. Isochoric [I. Carried outat
process constant temperature
C. Isobaric [II. Carried out at
process _constant volume
D. Adiabatic IV. Carried out at
process constant pressure
Choose the correct answer from the options given
below:
(1) A-1v, B-II, C-111, D-I
(2) A, B-IL C-II, D-IV
.(i) AL, B-111, C-1V, DI
4) AV, B111, C-I1, D-]

15

60

61

62

Ink = b )
AEN = ad e s ihel® o ey sMaacaq

ﬂt""l:{mq[{g,t,ﬂ
- .1/ 1
(1 i___ (2) -—‘i
R 1
%L .
G 2L @ =
T + =

Aesa A1l P PRGN 2t

g
23]
C CH
(1 CH/H\CH/I
3 ~T2 0 CH,
' &
(2) CH,
CH;

&)
ok

0) H[J(;,»f\gﬂ[/’\CH3

it | a grs swfod Al o1t 1] @ s =R
] -
wifti#t 1 izt 11
(afsnn) (Baids)
A. HUHIS sl [ onsid Femy =N Al
B. NG I RS SR
#us [ sestifio IH
Cc. musil IL RS SN
[y Ao A
D. wwworl V. Rifi®® 61t
s Weasifio XN

s oS penfE W s O Rraned
(1) A-lV, B-I1, C-111, D-I
(2) A-l, Bl C-111, D-1V
(3) A-lI, Bl C-1V, D-1

4) A-1V, B-lL, C-11, D-1
[ Contd..-
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64

. 25 mL of 0.75 M HC] solution, the mass of sodium

65

1) -

(4)
R6_Bengali+English ]

: :CO(NIIA)S (504)]1_%

Match List 1 with List 11,

List 1 (Complex) List 11 (Type of

isomerism)

FCn(NH;)S(NOE)-]L"IZ . Solvate

isomerism

II. Linkage

isomerism

| [er(en),] .

lonization

isomerism

C13

CO(Hzo)G-

Coordination

V.,

isomerism

Choose the correct answer from the options given

below:

(1) A-L, B-1IT, C-1v, Dy
(2)  A-1, B-1V, C.11, Dy
() A-1, B-1v, C111, D1
(4) AL B0, Cav, Do

1 gram of sodium hydroxide was treateq with

hydroxide left unreacted is equal to
(1) 250mg (2) Zeromg
(3) 200 mg (4)) 750 mg

Which reaction is NOT a redox reaction?
(I) 2KCIO5+1, — 2 KIO; +Cl,

(2) Hy+Cl, =2 HCI

(3) BaCl, + Na,SO, — BaSO, + 2 NaCl
(4) Zn+CuSO, - ZnSO, + Cu

For the reaction 2A —= B4 C 5 Kc =4x1073, Ata.
given time, the composition of reaction mixture
is: [A]=[B]=[C]=2x10"3M.

Then, which of fhe following is correct?-

Reaction has a tendency to go in forward
direction.

Reaction has a tendency to
direction.

Reaction has gone to completion in forward
direction. '

Reaction is at equilibrium.

(2)
(3)

go in backward

63

64

65

66

16

arfsrar | ad 3o ot 1] Gy
eifist |
(enfts=1esitan )

&It 1]

(rngEra san. )

A. [Co(NHJ)s(N()z)_l(‘lz Lo m s,

B. [CO(NH ), (s0, )13.- i

'F'q" Ml ey, .

58 [CO(NH?‘)G] [Cr(CN)FJ 1] T
Hillv

D. [CU(H20)6]C!3
s za e s 5f%s Yo R,
(1) A-IL B-lII, C-IV, D-II
(2) A-L,B-IV, C-III, D-II
(3) A-II, B-1V, C-III, D-|
(4) A-1I, B-II, C-1V, D-I

IV, s TN,

'ﬂ.'ﬁ,!

25 mL 0.75 M HCl 54t | g omifyays R
e F R AR SR 23,

TZ-IT}}:,‘..'.]
4 (0tF Preaes
(1) 250 mg (2) 7@ mg
(3) 200 mg 4) 750 mg

WE el snme-Rrenas iy ag ?
(1) 2KCI03+1, = 2 KIO; +Cl,

(2) Hy+Cl, > 2 HCl )

(3) BaCl, +Na,S0, — BaS0, + 2 Na(|

(4) Zn+CuSO, — ZnSO, + Cu

2A=B+C it I(C =4x10"3| GBI 35
il sty Psa-Regers Ay :
[A]=[B]=[C]=2x10M.

Ot dlebd @b A ?

(1)
(2)
(3)
4

R s zaia sveen g
B s161e48) T s1avo1 s
RIS sy e aasyger aeel
RIS s Bl

| Contd..
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Match List I with List I].
List I List 11
e ompound) (Shape/geometry)
A. NH; I. Trigonal Pyramidal
~ BrFs 1. Square Planar
c. XeFy lll.  Octahedral
~ SFg V. Square Pyramidal
Choose the correct answer from the options given

below:
1) A-11, B-1V, C-l11, D-1

@) A-III, B-1V, C-1, D-I1
) A-ll, B-111, C-1V, D-1
(4) A-1, B-1V, C-I1, D-111

On heating, some solid substances change from

solid to vapour state without passing through

Jiquid state. The technique used for the
urification of such solid substances based on the
above principle is known as

) Sublimation (2) Distillation

3) Chromatography (4) Crystallization

In which of the following equilibria, Kp and K,
are NOT equal?’ -

(1) Hyg* g = 2Hly

@) €O +H0() = COxg + Hyg

(3) 2BrClg = Bryg + Clyg

(@) PClsg = PCl3g + Clyy

Among Group 16 elements, which oﬁga does NOT

show —2 oxidation state?
(1) Se (2) Te
(3) Po- 4) O

Given below are two statements:

Statement I : The boiling point of hydrides of

Group 16 elements follow the order

H,0> H,Te > H,Se > H,S.

Statement II : On the basis of molecular mass,

H,0is expected to have lower boiling point than

the other members of the group but due to the

presence of extensive H-bonding in H,O, it has

higher boiling point.

In the light of the above statements, choose the

correct answer from the options given below:

(I) Both Statement I and Statement I are false.

g; gztementl is true but Statement II i§ false.
BDtEf;ent Lis false but Statement I1 is true.

tatement I and Statement Il are true.

17

67

69

70

71

Gt |
( t311%)
!\. NIIJ |_

B. BrFq IL.
C. XeF, 1.
D. SFg Iv.

OIS T ad 3160 Gifda 1] crme

sifiter |1

(P141 | eanPufls)

(T2 AP
Praithiipits
SAGA ARG
0 Leton |

A5 a4l
Ale 353 [AaFosfe tais sif5+ o Hieer #4:
(1) A-II, B-1V, C-lII, D-1

(2) A-III, B-1V, C-I, D-1I

( A-I1, B-III, C-1V, D-1

4) A-I, B-1V, C-II, D-III

ol Pt g 3i%a saiar ogs oy & Prar $i54
Sl (A 40Ny oEsany AHAfYe Zul 9’ e
st 1 Paflaaacad o o Aeais A4 X3 ofd
Niod fefs =12
(1) SEsnios
(3) Ferterys

(2) =o=
(4) e

Miea c1a Arar Az K a3 Ko aa a6 s a5 ?
(1) - Hygy+ oty == Higg
@) CO +HO) = €O * Hagg)

 3551-16 CNERIA AP G150 — 2 Gidel 70 TN w17

2) Te
4 O

(1) Se
(3) Po

s gt gl toxn =9 ¢

Reafts 1 : 2651 16 cllefid Ry ol A3z av
FPOAITD (<elIH]

H,0 > H,Te > H,Se > H,S a% wizpaa 3l
PRSI : wiafds ey RBRNT SHEd SPHISE st
SlEAnE AW Dol W ZuHI oMo 3y fHpe
H-asE) 1313 Stetd U603 spoaIsh Jel
BsEd i sgea v i ans eyl
w1 s God Ridisa a4 '

(1) Reaits [ was Pagfs [ Swn® gal

(2) Fagits 1 a1 g Myl 11 gel

(3) i gt g Reis 11 s

(4) g ] w9z Fgls 11 DwR A+

| Contd...
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(Conversion)

A.

B
C:
D

s vy s Aniline does not undergo Friedel-
Crafis alkylation reaction. et uhesm

Statement 11 : A
. " 5 pa g eI ' Jh
Gabricl Synthesis. ancthe praparec ek

In the lip :
light of (he above statements, choose the

COrrect answes (i

tlt?)i\‘:ll:hk::-u rom the options given below:
(2) Staten “Hcm‘*‘,"‘ I and Statement 11 are false.
% Sldiement l IS correct hl,ll S[a[erne]][ ][ is
(3)

lalse,
Statement | 1S i

(4)

Given below are two statements :

true.
Both Statement 1 and Statement I are true.
3+ 3-
Statement I : Both [Co(NH ) ] and [CDF]
"3 6
complexes are octahedral but differ in their
magnetic behaviour.

3+ -
Statement I - [Co(NHB)J is diamagnetic

3— .
Whereas CoFﬁ] IS paramagnetic.

In ’Ehe light of the above statements, choose the
correct answer from the options given below:
Both Statem_ent 1 and Statement IT are false.
Statement | 1s true but Statement 11 is false,
Statement | is false but Statement 11 is true.
Both Statement | and Statement I1 are true,

F]e)hlin]gk”s solution ‘A’ ig
- alkaline copper sulphat
(2) o?uti Pt 5

alkaline S on of d )
tartrate (Rochelle’s saISO G el

(3)

(4)

aqueous sodium citrate

aqueous copper sulphate
The Henry’s law constant (K values of th
gases (A, B, C) in water zfreHl)AiS, 2%10-5 ;ES
35 kbar, respectively. The solubility of these gases
in water follow the order:
{1y B>C>A
(3) A>B>C

ncorrect but Statement II is

(4)

2) A>C>B
(4) B>A>C

Match List [ with List IL.

List I List IT

(Number of
Faraday required)
I mol of H,0 to O, I. .3F

I' mol of MnO; to IL

Mn2*

1.5 mol of Ca from
molten CaCl

I mol of FeO'to Fe,0; IV. SF

Choose the correct answer from the options given
below:

(1) A-1II, B-1V, C-1, D-II
(2) A-ll, B-lII, C-I, D1V
(3)  A-lIl, B-1V, C-II, D-]
4) A-ll, B-1V, C-I, D-III

2F

Il. 1F

R6_Bengali+English |
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(F13901)

i gt 140 42108, .
it I ¢ omrfafiger Betdet-chDetar oiilal iz r.y,, i,
spiefal Bl all ‘ .

Peafts 11 : AAnfeaeie L2 L 3 e E AR ET ”
41 203 el ) /
Fspead Tagfts ez Aanid At gy B4y,
ol i Tad [Edibel fhtf: 3 i
(1) Faegfts [ a4z faqita 11 i3, ol

(2) fagit | sifyw g 11416 [ g4

(3) fgf [ gt fapg 1441 I1 zrfﬁaﬁ

(4) Fagfo [ aa fgfts [1'%@is, sifs4

NG ifﬁ f:[iiﬂj qeEl=

3+ ]
P I : [CO(NH3)6] ads [ CoF, |
wiftar (e oo P 9l (6176 246G o).,

Pt 11 : I:CG(NH3)6]3+

3-
Reawitsaiat g [ CoF | g
Yaad i Agi=d DS et HRa f-’iitir'rqri[.;l
e Afds Sad Ridies @4
(1) Pl [aas FHEfs [[Sowa g«
(2) Pl [ a3 frg Fagfs 1 gt
(3) FuAfs | ge ey Fgfo 11 15
(4) Fagfs [ gas afs [1Tetaz A+
wplEses Aol ‘A’ el
(1) s #5114 AP
(2) wulessr s{BIRN BTGB HIN Hao
(Gne~1ts1d s1de1)
(3) weElw wifyam AT
(4)

3-

L
L T
95 Mgy

SN FHA1F AT S

ot el smea (A, B, C) =aifug
NAIEw 145, 2x1075 @32 35 kbar|
NGl (9 F00 AT TA:
(1) B>C=>A (2) A>C>B
(3) A>B>C (4) B>A>C
GIfE1 [ g sicet o1 11 ceira

SifEr | e 11

(9 =1frane Hiame
' ATHTST)

1 et witsia I. 3F

olfceie sifacs

1 s Mn();

ad Mn?t @
BIEE T

o CaCl, cats
1.5 o=t Ca

1 o1t FeO
Fe,04 (o sifyade
Mte 2@ fyaesiafR] (i 513+ Toy Ridbe b4
(1) A-II, B-1V, C-1, D-1I

?2) A-Il, B-III, C-1, D-1V

4G &7 (Ky)
SIS fard ey

A,

B.

I. 2F

IlI. 1F

IV. 5F

3) A-IIl, B-1V, C-I1, D-I
4) A-Il, B-1V, C-1, D-III

@ coll¢Edutda:
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Match List T with Lisg 1.

List I List 11
pantum Number In l‘nrnmliml Drovided
A. My shape of orhigg|
B. s - S1Ze of orbi(a|
C. M. oriemation of
orbital
D7 IV. orientation of spin
hoose the correct answ, f‘m C!Cdron-
I?ellow: Soreriromthe options given
(1) A-IILB-IV, C-1, p
(2) A-IL B-1V, C-1, D
(3) A-IL B-L C-1V, D)
@) A-L B-IL, CII D_1v
«Spin only’ magnetic moment ; i
of}t)he following ions? ent 1s same for which
A. Ti¥T B. Cr2*
C. Mn?t D. Fe2+
E. Sci* '
Choose the most appropriate answer from the
options given below: : Co
(1) AandEonly (2) BandC only
(3) AandDonly (4) BandD only
The reagents with which glucose does not react
to give the corresponding tests/products are
A. Tollen’sreagent B. Schiff’s reagent
C. HCN - D. NH,OH
E. NaHSO;
Choose the correct options from the given below:
(1) AandD (2) BandE '
(3) EandD (4) BandC
Match List I with List II.
List I (Reactions) List II (Reagents/
Condition)
.0
p OO0 1 QY e
Anhyd.AlCl,
)
5. OOV 0 L cro,
OH O
c O =Y 1. KMnO,/
KOH, A
CH,CH
D. a3 IV. (i) O;
COOK -
© (ii) Zn-H,O

Choose the correct answer from the options given
below:
(1) A-1I1, B-1, C-II, D-IV
) A-IV, B-I, C-1I, D-1II
A-1, B-IV, C-I1. D-11I
4) A1V, B, C-111, D-I1
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77

78

79

80

LI LIENTE ) R LR WP
L EN |

a1 Latappn

. @141 11

(Lpranitsy LEC T (1175 @)

f\. Hl! |

B m . DRLAA AT

& ; ® | I AT

b o I s P
- IV, Brasmg oo

P faz1i1s

AL TS [besrgfi o1t wisa Fag @ A1y 5q-
(1) A-NL BV, G Doyt
(2) A-IIL, BV, C-I1, Do

(3) A-IL B-I, C-IV, D-IIf

(4) A-I, B-NII, C-II, D-1V

MG e el ‘gefasina’ Wl graesd e
olfioz=?

A. T3t B. Cr2*
C. Mralf_“* D. Felt
E. Sc

N6 275 FAF=s1gfar (1t A4145 M9 S54f® Riioa
34

(1) @wa=sae Aaa:E (2) @«s319 B w4z C

(3) @aamw Aw4:D (4) @=ea1e Bad:D

- P i e e i 0 o ae Sege

#1351/ e m (AN =l
A, Orerwid Asias
C. HCN

E. NaHSO,

dleb sAva Ppessyf (s A HFes Riss .
(1) @==ag Avd: D (2) @493 ByuatE
(3) w@Fee EvatD (4) @a=mmwBade C

oifdst 1 vd sicest eifss 1 e

B. Mose MeEs
D. NH,0OH

ot 1 G+ 11
(Fafs=n) (Fenas/aRs)
i 0
A OO0 1 @
@iEE AlCl;
o)
5 Q-0 nco,
OH 0
C. O’ 5 : lIl. KMnO,/
T KOH, A
CH,CH, _
D. — IV. (i) O;
£OBK (ii) Zn-H0

AN 21T PravestagRl e oifds O Pratbet 33
(1) A-llI, B-1, C-I1, D-IV
(2) A-IV, B-I, C-ll, DIl
(3) A-l, B-1V,C-11, D-lll
(4) A-1V, B-1, C-llL, D-II

[ Contd...
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(Molecule)

A
B.
C. carbon
D

(he following clements in increasing
c P P

order ofclcclmn:gnlml} ;

K C. S . ; :

E:]l'm;}t‘ (he correct answer from the options given
below: ) -

(1) Si<C<O<N<F

(2) O<F<N<C<Si

(3) F<O<N < <8

(4) Si<C<N<O<F

Match List 1 with List 11,
List 1

Arrang

List 11
(Number and types of
bond/s between two
carbon atoms)
ethane l. one g-bond and
two n-bonds
two w-bonds
one o -bond

1L
1.

ethene

molecule, C,

ethyne IV. one o-bond and

~ one n-bond
Choose the correct answer from the options given
below:

(1)  A-IV, BIII, C-11, D1
(2) A-IIL BV, C-IL, DI
(3) AL B-IV, C-I, D11
(4) A1, B-1v, C-I1, D-III

Arrange the followin
order of first ionizatio
Li, Be, B, C
!(J‘;;?}?Vs:e the correct anrswer from the options given
(1) Li<B<Be<C<N

(2) Li<Be<C<B<N

(3) Li<Be<N<B<(C

(4) Li<Be<B<C<N

g elements in increasing
n enthalpy:

Which one of the following alcohols reacts
instantancously with Lucas reagent?

(1) CHy-CH,- CH-OH
CH,
(2) cH;- (I:H ~CH,0H
CH,
CH,
() CH,- (:: -OH
CH,
(4) . CH,-CH, -CH, - CH,0H

Activation energy of any chemical reaction can

be calculated if one knows the value of .

(1) probability of collision.

(2) orientation of reactant molecules during
collision. _

(3) rate constant at two different temperatures.

(4) rate constant at standard temperature.

81
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20

uiye Auig s At Mt il
N, O, F, C, Si
Mt 9@ e o0 31054 Gaq B4imm g
(1) Si<C<0QO<N=F '
(2) O<F<aN=C=<Sj
3) F<O<N<C=<Sij
4) Si<C=N-0O~<F

it [ ad Mo o1t 11 caragie

ﬁll’ﬂ:" Hl"ﬁh

i | a1

(w17) (%1 d14e1 s14m1q4 W7
42N Homp1 1y H4it5)

A. Bima . aaf® g-qe

GBI gp ey
B. #fha Il 5% g-4ae
C. =14 M. a3t g-dmaq
aq ,C,
D. Zaz# IV. a#ft g-4=a) vy

a#{l 7 -qeme)
M o173 ety (1S AFS T4l Riding oy ;
(1) A-1V, B-lII, C-II, D-I
(2) AL B-1V, C-II, D-1
(3) A-IIIL B-IV, C-I, D-II
(4) A-lL B-1V, C-II, D-III

AT oEE @A BE GHE v Nisy ey
HAEIG

Li, Be, B, C, N

e oa Faesfé (s 053 Yo Riies 54
(1) Li<B<Be<C<N

(2) Li<Be<C<B<N

(3) Li<Be<N<B<C

(4) Li<Be<B<C<N

G FHFE A A6 HIe AN HIRE Peltl
EIF R

(1) cH,-cH,- CH -OH

CH,
) CH, - CH-CH,0H
CH,

%

3) cHy-C-ou

CH,

(4) CH;-CH, -CH, -CH,OH

B 18 Sieitel @3S Fnaiia R sk o e
41 NI |

(1) ez swioI

(2) 1= satENe s oegs e e

(3) u® Rewl st A A w4

(4) =we SIS PR Al gl
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[dentify the correct answer.

) BF; has non-zero dipole moment,

2) Dipole moment of NIFy is greater than (ha
Glelj-

(3) Three canonical forms can be drawn for
coi‘ ion.

(4) Three resonance structures can be drawn for
ozone.

The pair of lanthanoid ions which are diamagnetic

ﬁ) cedtand Eu2*  (2) Gd** and Eudt
(3) pm3tand Sm3*  (4) Ce*tand Yb2*

The rate of a reaction quadruples when
temperature changes from 27°C to 57°C.
Calculate the energy of activation.

Given R =8.314 ) K1 mol-, log 4 = 0.6021

(1) 380.4 kJ/mol  (2) 3.80kJ/mol

(3) 3804 kJ/mol (4) 38.04 kJ/mol

For the given reaction:

{)-c=cH KMnO/H* = «p*

| ' (major
- H product)
‘P’is

) ()—cooH

OH OH

) O—lIZH—-(ISH—O :
(O IO '.

(3) Q—é':-i':
) ()—cHO

The work done during reversible isothermal
expansion of one mole of hydrogen gas at 25°C
from pressure of 20 atmosphere to 10 atmosphere

is:
(Given R = 2.0 cal K~! mol~1)
(1) -413.14 calories

(2) 413.14 calories

(3) 100 calories
"(4) Ocalorie

The products A and B obtained in the following
reactions, respectively, are '
JROH+PCl; +3RCl + A

ROH + PCI; > RCI + HCI + B

(l) PO’CIS and H3P04

(2) H;PO, and POCI,

(3) H;PO; and POCI,

(4) POClyand H,PO,

21
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NS aafe, i,

(1) BEy aa tqay W K HTRE PR )

(2) NI @ iy NF ad fry,

3 02

(3) ¢ SRR L RUE R RITTR (o 1Y N4 2
Olib1 3ppa)

(4)  venter oy fomfr, “Agarin mho

Mits

Vil 1414, A3 |
Wb Jgnaptg NI A2y

vE|

b1 2y
BN Ry ooy [ ATHS AP

(1) Ce3* qasky2t (2)  Gd3* gar Byt
(3) Pm¥* @2 Sm3t  (4) et guy yh2t

OITHIPI 27°C (216 57°C @ 4ffs F40ar aalts f4fepata
A Graser gy st apsen iy Ry 44l

(7@ R =8.314 J K~! mol-!, log 4 = 0.6021)

(1) 380.4kJ/mol  (2) .3.80 kJ/mol

(3) 3804 kl/mol (4) 38.04 kJ/mol

st f4fzpany

—cy KMnOy/H* pr
O—(I: cu XKMno, p
H

D (major
' product)
‘P’ ma ; '
(1) ( )—COoOH

OH ?H

|
2) C>—CH—CH_<:>

OO0

25°C OI=sIDTS O [EIe TIRETTSe s 20 Argsreweis
6191 (e 10 A= siest Swydl Aenrse afpmm

 SAIAE FEte] FoIad e =1

(&5 R = 2.0 cal K1 mol1)
(1) —413.14 sty

(2) 413.14

(3) 100 srsify

(4) ~ett FrIEf

Aresa RRSIER (e #1170 e A a4 B

qAYTHTA
3ROH + PCl; —3RCl+ A

'ROH + PCI;»RCl + HCl + B
(1)

POCl; w4t H3PO,
H4PO, ws POCly
H4PO; @7z POCly
POCI; ‘a4 H;PO;

2
3)
4)

.
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re certain cations. Using inorganic

i lowa i :
Giyen be arrange them in increasing

ualitative analysis,
group number from 0 to V1.
A. AP* B.
C. Ba?*
E. Mg2+
Choose the correct answe

below: (2) E,C,D,B,A

1) B.C,A,D,E :
%3) E.A.B.C.D (4 B,A.D,C,E

Cu?*
D- C02~I-

r from the options given

The plot of osmotic pressure (I1) vs c_:once_ntratlpz
(mol L) for a solution gives a straight line wit
slope 25.73 L bar mol~!, The temperature at which
the osmotic pressure measurement is done Is:
(Use R = 0.083 L bar mol~' K™)

(1) 310°C (2) 25.73°C

(3) 12.05°C (4) 37°C

A compound X contains 32% of A, 20% of B and
remaining percentage of C. Then, the empirical
formula of X is : '

(Given atomic masses of A=64; B=40; C=32u)
(1) ABC, (2) ABC,

(3) ABC, (4) A,BC,

Major products A and B formed in the following
reaction sequence, are

alc. KOH

OH . .
H3C PB . k 7
: (major) (major)

H;Q © H4C
(4) A= : B=

During the preparation of Mohr’s salt solution -
(Ferrous ammonium. sulphate), which of the |
following acid is added to prevent hydrolysis of
FeZ* ion? '
(1) concentrated sulphuric acid

(2) dilute nitric acid

(3) dilute sulphuric acid

(4) dilute hydrochloric acid
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et et SBINEA AH0S) o,
3

afirar g5t et 0 62108 V] gy L. L M
A, AP Cu2t o,
C. Ba®' D. o2 ki
E. Mgt

M §19a P71 04 21 554 S,

(H B,CADE (2) p L N ';:" A4

3) EABGCD (4 g4 D r'_-x\
a={ B4t S His1 (11 ) 131 o Bl
(=1ulfbE ol FhiE aaib Hdat g
siftsat 3n1@ 25.73 L bar mol=! i3y gy,
3151 41 ZLACE O T4;
(A= R = 0.083 L bar mg|-! K-l)
(1) 310°C (2) 25.73°¢
(3) 12.05°C (4) 37°C

X aiead aaib e 329 A, 20%

525 4 (e |

gz M s ;

—. 1![!;.
""ﬁl’.l -'.“I‘.H.T'}l 4
=M 5

ot C featval X ad 9 soze ﬁ,f? T oxip
(a7 A 9 AEAARF g = 64;B = 40;C =
(1) ABGCy () ABc, Y
(3) ABCy4 (4) A,BC,
A6 7T FHFNSTH 41 BemA e B oy
OH
e PBr.
3 A Alc.KOH
(major) : m:'m]

H, Br HC
@ A o

OH 0
(3) A= - B=
Br
H H;C

GRS w1401 e (coarel i Aews) e
TG SETICING (19 FACE G @A S
15 FA1 "W 7

(1) =nw F=Fofas anfhy

(2) =19 aRGs sy

(3) =1y WS By

4) =iy =RuwiefiE ok
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~ Complex whereas_[Co(NHsLCl&] is a

(4) ' Both Statement I and Statement II are true.

Rﬁ__BengaIHEnglish ]

Consider the following reaction in a sealed vessel
at equilibrium with concentrations of
N,=3.0%x103M,0,=42x103Mand
NO=2.38x103M.

= 0
2N0(S) N2 &) + 2g) |
1£0.1 mol L-! of NO is taken in a closed vessel,

what will be degree of dissociation (d) of NO(g)

at equilibrium?
(1) 0.0889
3) 0.717

(2) 0.8889
(4) 0.00889

Identify the major product C formed in the
following reaction sequence :

CH, ~CH, -CH, - [N
NaOH

— C
B, (major)

OH™ .
Partial hydrolysis ,

(1) butylamine
(2) butanamide
(3) o-—bromobutanoic acid.
(4) propylamine

Mass in grams of copper deposited by passing
9.6487 A current through a voltmeter containing
copper sulphate solution for 100 seconds is:
(Given : Molar mass of Cu : 63 g mol~1,
1F=96487 C)
(1) 0315¢g
() 0.m315g

(2) 315¢g
(4) 3.15g

Given below are two statements :

: 3+ .
Statement ¥ : [Co(NH3)6-] is a homoleptic

heteroleptic complex.

3+
Statement IT ; Complex [CO(NH3 ) . ] has only

. . +
One kind of ligands but [Ce(hﬂ"h)4 C'z] Hes

More than one kind of ligands.
the light of the above statements, choose the
Correct answer from the options given below:
(1) Both Statement I and Statement II are false.
2) Statement 1 is true but Statement 11 is false.
) Statement 1 is false but Statement II is true.

23
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qNioe ADNMD Fraser F9 s g3is snEsy s
AANAFAIA ATBBHYLRA A1e o
N, =3.0 x 103 M, 0, =4.2 x 103 M w4z
NO=2.8x 103 M.

ZNO(s) =N, OM 02(9)

P @#fb awy s 0.1 mol L-! NOq) @iunl &

arstirasaist NO ) ad it ol (a) #o m?

(1) 0.0889 (2) 0.8889
(3) 0.717 (4) 0.00889

disa Pafaat 3o Yur Sesri C bikve +4:

O~ CH,~CH, ~1— 2 5

OH™ . NaOH _
Partial hydrolysis "~ . Brz (major)

(1) EHEsRsene

(2) BB Y

3) o-—wnmETsIEnkF onBiv
(4) wn=RsEmne

B WEAHD FH01 AeMeE aNe 9B (wIFehiGI
100 sy st 9.6487 A wive siidieel =tst 3G
SIE1d A 9Phd @y

(avw: Cu wd @13 w4 : 63 g mol-!

IF = 96487 C)
(1) 0315¢g (2) 3l5¢g
(3) 0.0315¢ 4) 3.5g

s 5L Pl ey
3+
E7 el I [CO(NH3)6] . 935 Sifgssisees wibe

: +
SiC Bl [CO(NH3)4C12] aiB Rewisissises
iBer (sl

3+
s I [CO(NH3)6] GiBe LTg @ sAey

. +
Sl ALHUT NI [Co(NH3)4CI2] @y aF

qAEIE @ AP Jears)

Boad R sigena wens Mis 25 Bz
AP AT Ty BiAres w: '

(1) PERS a3z B 11 vwwi ga

(2) Pefs = g Rl 1 ga

(3) P 1 g Pog Piafts 11 s

(4) FEf5 [ aas Pafs [1'9ewR A+
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Lecithin, a small molecular weight organic

compound found in living hssues is an example
of: ~{ -

(1) Phospholipids
(3) Carbohydratgy
bt

These are regarded as major causes of biodiversity
loss:

A. Over exploitation

(2) Glycerides
(4) Amino acids

. B. Co-extinction

C. Mutation
D. Habitat loss. and fragmentation
E. Migration gy
Choose the correctoption:
(1) A,B,C andiD only
(2) A,BandE only '
(3)” A, Band D only
4) A,CandD &l}ly

Which one of the following is not a criterion for

- classification of fungi?

(1) Mode of nutrition
(2) Mode of spdié formation
(3) Fruiting boép

4) Morphulog%_\f mycellum _

A pink ﬂowerediﬁapdragon plant was crossed
with a red flowered: Snapdragon plant. What type
of phenotype/s is/are expected in the progeny?
(1) Red flowered as well as pink flowered plants
(2) Only pink flowered plants

(3) Red, Pink as well as white flowered plants
(4) Only red flowered plants

£y
Which one of th llowmg can be explained on

* the basis of Mendel’s Law of Dommance?

A.- Out of one pair of factors one is "dominant
and the other is recessive.

B. Allelesdo nblShow any expression and both
the characters appear ‘as. such in F,
generation. - -

C. Factors occur in palrs in normal diploid
Plants. ]

D. The discretéiinit controlling a particular
_ character is €dlled factor.

E. The expressjoh of only one of the parental
characters igfound in a monohybrid cross.

Choose the correct pnswer from the options given '

below:

(H ACD and%)only
(2) B,CandD only
3) A,B,C;DandE,
(4) A, B and C only

101

102

103

104
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D.

EiifE, a3 #9 Sle s veEd e ol N1 HEe
Fetrs steu i3, ofd afs Inrmge =

(1) wawifiPugs  (2) PasEEd

(3) snaimByiva  (4) omfen embiod

Ay wiog s@psjer drac Pgaie s a:
oIk fRsIazcrd a3 5
"7-fiefo
Ay ,

AR w0 wRvesdE
LIERIC
ﬂ’m faa={® Rid16et 4:

(1) @99 A, B, Cua4:D

(2) @49 A, BuatE

(3) @Hst A, BaasD

4) @ A, Caa:D -

gPoome
BSTIBEBL

it eaxt @6 v eis md e ot oig™
(1) =2 =

2) w@q 9% FAIE H

(3) wevEl e (Fruiting body)

(4) WBERHATAT THHIAE

BéITBBL

~
aFTE A spest RAMSS siisiwise sticed A et
aftel sjost PSS setmstgioe v sl S &8

. wroptra Wt B P wawerd afzssma/aliasanf tied

AqiA ?

(1) =t s3es ads onetsl spest PSS st
(2) w3 enErh spes [ e

(3) =mE, erEE @Az A e AR s
(4) st anE e AfSs suy

n
(1]

rTTES BHEO1 i fufeue Rimfafie wals ana
41 A7

0
A, GFTENY] FED I 9FFE WAy vl 236 aﬂﬁfj

HezeE -
B. wnfis @i sl wwa atd a1 @3as Spa

WPt Fy eejto man gl n
C. =ufys Ry Stwem ﬁnﬁ a1l a5 aiy

TGS A
T2 o 9D 5juD 9B A1 93G RFFE A
Riamel Ft4l ~
E. ueimiBie am 3 ad Aead oeid asis 19

Gt Tatserd st mEl - [y
s s P s sfva Soalb Riise 3.t
(1) @« A, C,DuatE '

(2) =t B, Cwqs D 9)
(3) @« A, B,C,D@#tE oy
(4) @aa A,Baa:C
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106 Tropical regions show greatest level of speci
A Cs

107

108

109

R6 Bengali+English |

richness because
A. ;:3?;;:[‘::}:2:;'?3:::;“:2 'rcnminud relatively
R s of years, hence

more .umq was available for species
diversification.

B. Tropical environmentsire more seasonal.

C. More solar energy is a\#ilable in tropics,

D. Constant environméifs promote niche
specialization.

E. Tropical environments are constant and
predictable.

Choose the correct answer fygin the options given

below: o

(1) AandBonly

(2) A,BandE only

(3) A,BandD only

4 AGCD and E only

In the given figure, which cbmponent has thin
outer walls and highly thickened inner walls?

2) A
4) C

(1) D
(3) B

The cofactor of the enzyme ﬁérboxypcptidase is:
(1) Niacin (2) ®lavin
(3) Haem (4) &inc

Given below are two staterfdnts:

Statement I : Chromosomb&'become gradually
visible under light microsc@e during leptotene
stage. :
Statement II : The begining of diplotene stage is
recognized by dissolution Of synaptonemal

complex. _
In the light of the above stafgments, choose the
correct answer from the optiogs given below:

(1) Both Statement I and Stajement II are false
(2) Statement I is true but §tatement 11 is false
(3) Statement I is false but Statement Il is true

(4) Both Statement 1 and Statement Il are true

25

10
G NN e e 30144 senifts #3qfen (species

107

108

109

richness) tbar ey sips 9

A a
“:'?u.: t?ih&‘-jﬂl'g_ﬁl A5, AW ATA 4 DABIHO
; e T Bofls liba T
GUAE I ts1eaem) 1 o
B.

DU oG [t cam Gy wg i Marl
C. #1Du orpie M it st

DARAGTN A Tgqm .
Fl MY FerNaaotes sienfro

E. @ safaam z3 esifiasdiy que B3t i
s 27S B9 s 4 Bo Ridiss a4-

(1) +4s1A 942 B

(2) t#atA, Baas E

(3) s A, B w4t D

(4) ‘@=e A, C,D et E

Ais traul Thta 1 SIEs AR 5% 2161 v Reor
sagel AIBNA A ?

(1) D 2 A
(3) B 4 C
FEABsA[Bro S Y@ ETHd mlgn?arﬁs =@
(1) ansnfhe (2) @lﬁaﬂ
(3) (4) QRu=
o (V8]
47

e e Al e N
Pegfs 1 : cpsBIiel ToRmTs QI oo dIsha Nt
@A fied A e fro Y@ el

i 11 : Rygenfbe Ysmmig ougse meE 4l N
sRasiRIRE FaveeE AR AR A Al
Yspcag Ryl R AR s AR Przestoyfa
tartas A% od Gibe

(1) Prafs T ads Rafs I eisR g4

() fugis [ A% g P iget

3) fugis | gal Py gl 1013

(4) PEfs | wdg B [ RCTE R RS
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110 Whay is the fate of a picce of DNA carrying only
gene of interest which is transferred into an alien
organism?

A. The picce of DNA would be able to multiply
itsclf independently in the progeny cells of
the organism.

B. It may get integrated into the genome of the
recipient.

C. It may multiply and be inherited along with
the host DNA.

D. The alien piece of DNA is not an integral
part of chromosome.

E. Itshows ability to replicate.

Choose the correct answer from the options given

below:

(1) DandEonly (2) BandConly

(3) AandEonly (4) AandBonly

111 Identify the type of flowers based on the position
of calyx, corolla and androecium with respect to
the ovary from the given figures (a) and (b)
(1) (a) Hypogynous; (b) Epigynous

- (2) (a) Perigynous; (b) Epigynous

(3) (a) Perigynous; (b) Perigynous

(4) (a) Epigynous; (b) Hypogynous

112 Match List I with List I _

ListI List II

A. Two or more i il Back cross
alternative
forms of a gene

B. Crossof F; 'II.  Ploidy
progeny with -
homozygous i
recessive parent
Cross of F m. Allele
progeny with
any of the parents -

D. Number of IV. Testcross
chromosome
sets in plant

Choose the correct answer from the options given

below:

(1) A-I, B-I, C-II, D-IV

(2) A-11, B-IV, C-I, D-II b

(3) A-1V, B-111, C-II, D-I

(4)  A-L, B-II, C-l1I, D-IV

Rﬁ_Bengnli«l-Eﬁg’ish ]
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1o

112

e o s AznAN asld DNA W=
asfd afarma(alien) Miad eod Ao 04 Bra
i «1fa=its =eo s ?
A. DNA masls mstor amjo sqllemrea
aftshrs 155 30 A
B. aof® mizs Presnms sea onfes s oz
C. afs Amngftn st40 7d a4: i DNA -y
ANA Aefete SNHe 5o ara -
D. af@mo (alien) DNA w=of® @riancencry sy
e sl
E. alt afsfafsaa 3313 wsao o
Al paHl AT (1 A5 Soa Rrass 54
(1) maDaeaxtE (2) @B aea:C
3) @IAeRE (4) @==1Aea:B

Ryagcaa A 45, massa v PuETIswy
o R Ae Bia (a) 8 (b) orom Femfy
moliE 4

(1) (a) &= ; (b) &N
(2) (a)=@af®; (b) =N
(3) (a)==s ; (b) w5
. (4) (a) =Ny ; (b) e

oifti# | vg sites eIk [
oI |1
A. of¥s s g7 I.
1 @13 ABF
= 7159
B. Fl=eaana - L.
CIICATSHTRAA
go=a wigE
AT
C. F1 seja s
mE a3ls
stf1gd A1FIRNSF
D. Sfvewm ¥sflac
@ICAIEIA GBS 9F A
s cinAl FAFesefE (A= A= Yot MasA
(1) A-II, B-l, C-IIL, D-IV
(2) A-IL B-1V, C-1, D-ll
(3) A-IV, B-lll, C-I1, D-1
@) A-l, B-ll, C-1lI, D-1V

e1f 11
TS 2

=enfY

. =nf=

lv. &8s
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Formation of interfascicular cambium from fully
geveloped arenchyma cells is an example for
Redifferentiation

%2) Dedifferentiation
(3) Maturatior
() pifferentiation

Which of the following is an example of

} morphic flower?
ﬂ"““%as;,'{, (2) Pisum

(3) Sesbania (4) Datura

11 always cuts DNA molecules at a particular
115 ot called recognition sequence and it consists
(2) 4bp

(4) 8bp |
required for the dark

413

114

which of the following aré
reaction of photosynthesis
A, Light B.

‘c. CO
£ NADPH
Choose the corré

low:
oe C and D only

1) B,
EZ; ¢, D and E only

3) DandE only
54; A,BandC only

116
Chlorophyll

D. ATP )

ct answer from the options given

pelow are two statements: o
Statement I : Bt toxins are insect group specific
andcodedbyagenecryMc.. .
Statement II : Bt toxin exists as inactive
rotoxin in B. thuringiensis. However, after’
ingestion by the insect the inactive protoxin I_%ets
converted into active form due to acidic pH of
the insect gut. -
In the light of

117 Given

the above statements, choose the
correct answer from the options given below:
(1) Both Statement 1and Statement 11 are false
(2) StatementI is true but Statement IL is false

"(3) StatementI is false but Statement II is true
(4) Both Statement [ and Statement II are true

The equation of Verhulst-Pearl logistic'grow'th is

dN K-N
e % ”[T] :
From this equation, K indicates:
(1) Biotic potential '
(2) Carrying capacity
(3) Population density
(4) Intrinsic rate of natural increase

118

The capacity to generate a whole plan

cell of the gant %s called: plant from any |,
(1) Micropropagation

(2) Differentiation

(3) Somatic hybridization

119

13

114

115

116

117

118

119

(4) Totipotency

R6_Bengali+Fnol:
- gl Engtin ) 27

‘“aﬂlﬂ t""‘f"‘T'N'Bm
MIRBIL14 B asy
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FH N4 Rimpg 4o Wt

() Afasperey ((2"} PAs 8N Prceam
AN B I L E
| FBA e aals - el ]
(1) 1By Q BN Frerd Ay gan
(3) rstnan ( 41 Wy
T

DNA F o
1 DAGEFTEA A1z Qe @l ma - o e
(1) 6bp @) 4bp
3) 10bp @) 8bp
ATCIFH LD W=F1d 717 e
s 33 ? > PO G

A, 9IED B. il
C. CO, D. ATP
E. NADPH

es pAoET A= WA (NS A G4 Ridiset
(1) w4 B,CuowtD (2) @%1C,DanE '
(3) @4 Daas E (4) @91 A,Baa:C

e gft AR ol ATR:
fafs 1: Bt i RifS e AOTE b

Frer. $6d @F% Ga w49l Astafee crylAc

pafs 11: B thuringiensis a3 fsoda Bt IEIEE]
ane fiften AF-oifufad Pooirgal <fig, G waidl
omeid et (ANFeR e AR @if=r+ pH a3
wperr ©f JfEd wiffns s1fao ==

oggd Pigfo gemd o A A Paestrfa
gt A5+ Ood BA16E 4

(1) fqfs I ads Pl 11 Soad gl

2) fFafs [ 55+ fog PAqfs Ilga

(3) Pl [ga 53 frgfs 11 AfF<

(4) PAMRGT a3 Prafts 11 vwR A%

Verhulst-Pearl aa aifaf$ds ftad FAMNFaal® =4

&
@8 sz, K BREo 3

(1) nfas wsaol

(2) == w6l

(3) @EsLAIT P

(4) mzpfos iEag =Ry =l

Sltow @ @I @B e aps A Sher
‘DenInel $AI4 FAOCHS F301 TH!

(1) FRBTAIATE

(2) ==ifaren
(3) TRTBIAA AHFAINA

@) Eifsrnidks
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120

121

122

123

124

125

120 The type of conservation in which the 1hrealclllcd

species are taken out from their natural habitat
and placed in special setting where they can be
protected and given special care is called;
(1) Biodiversity conservation
(2) Semi-conservative method
(3) Sustainable development
(4) in-situ conservation

121 The lactose present in the growth medium of
bacteria is transported to the cell by the action of:
(1) Acetylase
(2) Permease
(3) Polymerase
(4) Beta-galactosidase

122 Spindle fibers attach to kinetochores of
chromosomes during
(1) Metaphase (2) Anaphase
(3) Telophase (4) Propii]ase

123 Identify the part of the seed from the given figure
: which is destined to form root when the seed
germinates.
2 cC
3) D 4) 'A
124 A transcription unit in DNA is defined primarily
by the three regions in DNA and these are with
respect to upstream and down stream end,
(1) Structural gene, Transposons, Operator gene
(2) Inducer, Repressor, Structural gene
(3) Promotor, Structural gene, Terminator
(4) Repressor, Operator gene, Structural gene
125 How many molecules of ATP and NADPH are
required for every molecule of CO, fixed in the
Calvin cycle? '
(1) 2 molecules of ATP and 2 molecules of
NADPH '
(2) 3 molecules of ATP and 3 molecules of
NADPH
(3): 3 molecules of ATP and 2 molecules of
- NADPH
(4) 2 molecules of ATP and 3 molecules of
NADPH
R6_Bengali+English ] 28

R EICE] ETELR 14 faeasa o genfsing, -
14 A1st3an181 (o (AD B =131 sidtaem any,
siite] OIAA AT G FAAH 3D a5, 3

1

i

a4¢
LEH
(1) @ndalbe A

(2) oo gaporMat AAfl

(3) AP TN

(4) Rel-Rp A

4ftm apsren YHARAC airrpiore ANHBANA a1y
sifyqifze aH Ad faps1m ©1 T3

(1) ompieEEs

(2) stEfES

(3) sfaaES

4) Rits1-sTel I LBIATR LTS

oy @IAICAId FIREBIHIEE A Ay
za (X A

(1) wiviers (2) w@nEIEES

(3) BrETS (4) wanws

st e Neerd 1 D1 NS FSFEETER Fuyp
14 3@l todl Hid O MAF Fa3

@ C

4 A

DNA a3 afofsiwa a3 #1990 w33 Pxwicd DNA o
fofift ergeicas Risraer 19 =%, ©rg upstream @3
down stream s1t83 AsIsEs

(1) s15=H1 A e, Gromsrse, asEsd SNa

(2) =EEF, R, ssaE S

(3) tanewity, e Na, Bra Preeivw

4) fema, ssnEsa 9a, ssaFd a9

weifiost b aifts @) CO, WIBIge F13 @@ B 9
ATP 8 NADPH st =8 ?

(1) 2w®9q ATPu 2 wg NADPH

(2) 3 w9 ATP 6 3 wq NADPH

(3) 3 @9 ATPu 2 w9 NADPH

(4) 2 @9 ATP 6 3 wigg NADPH

(1) B
3) D
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Given below are twq Statements:

Statement I : Pyrepq) i o
Sollenchyma is dead tissu;)’nm Is living

Statement II: Gymnos

put presence of Xylem v

of ﬂnsi‘?sﬁem}s'}

In the light of the above stateme

correct answer from the options g];:rse’:nct:f:\i-the
Both Statement 1 and Statement 11 are fa]
Statement [ is true but Statement || js f:l "
Statement [ is false but Statement || is mf:

(4 Both Statement [ and Statement 11 are trye

126
but

pcmlls_lnck Xylem vessels
esselsis the characteristic

Auxin is used by gardeners to prepare weed-free
jawns. But no damage is caused to grass as auxin
1) promotes abscission of mature leaves only.
(2) does not affect mature monocotyledonous

plants. .
(3) can help in cell division in grasses, to
Q)

produce growth.
promotes apical dominance.

"In a plant, black seed color (BB/Bb) is dominant
over white seed color (bb). In order to find out
the genotype of the black seed plant, with which
of the following genotype will you cross it?

(1) bb (2) Bb
(3) BB/Bb (49) BB

128

Inhibition of Succinic dehydrogenase enzyme by
malonate is a classical example of:

(1) Feedback inhibition :

(2) Competitive inhibition

(3) Enzyme activation

(4) Cofactor inhibition

129

130 Match List I with List II

List I List IT
‘' A. Clostridium I.  Ethanol
butylicum
B. Saccharomyces II. Streptokinase
cerevisiae -
C. Trichoderma 1. Butyric acid
polysporum
D. Streptococcus sp. IV. Cyclosporin-A
hoose the correct answer from the cr)ptions given
below: . g

(1) A-IL B-IV, C-III, D-I
(2) A-II, B-I, C-IV, D-II
(3) A-IV, B-I, C-III, D-II
4) A-IIL, B-I, C-II, D-IV

B1 Listof endangered species was released by-
(;) WWF (2) FOAM .
3) IUCN (4) GEAC
Rﬁ—Be"gﬂlHEnglish ]
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126 Ty

'-'-ml' Prqfts emanr exnapg -
T SUIds B :
Hany| R i by emtmaraiang e
Tt 11 : iy
¢ fh‘?‘i'-[‘f.ﬂ F
SR gy ey A iz

BHtay
NS Aqrzg way
t(.'-'llm AT Tog Ry it A e
) PiaRs | ga. Prfts 11'Swars g

TLA a4) 9
1R N Wkt d" LMy !

HAG F‘I-ﬁsqﬂ iy

{i) Pl | 9ot g Pras 1] s
(4) Pafs | gy Pl 1Yoy aps

127
27 CmE AR ey TF NG wm af gy

| 5 ;
F==| fi‘ﬂ QI1AY R =ty %y oy

- AHTE A1 GISE ARG 3|
a
NS Bihevm 13 syo TG #tg o)

qit19 &9 [Seree sy
HO1 3 A1 B
H17o F4131 ;ﬂt‘

(4) =g azvo A= faenfe 3

@At e e Fien 33 (BB/Bb) s 330w
Neera (bb) O3 a0l Feen Nt Testraw1N Ay
mqu Risfratera se=i1, it tam e RwsisiEsg
AR o1 53 Bas <S6ne =uE ?

(1) bb . (2) Bb

(3) BB/Bb (49 BB

TS 52131 HHRIE RIS Yemee
sisqae Riafe == @3S Greetan I ¢

(1) Pwans RBafs

(2) " sfamINogas Rgis
(3) Yewics AlFRCl

(4) wewnEa Rigfs

130 i [ a7 sices ofer 1l o=

128.

129

oift# 1 wiftra1 11

A. #BERYIIN : I. Buee

 FiEeIRRera

B. #An#narmzeA . EBERETS
prcafa

C. ERewroraar ) | e
sifeEiy @niiy

D. oc#asraaEn a5t V. sdwiwanEEa-A

Mo e Py s sifF g @ A8t
(1) A-II, B-IV, C-I11, D-1

(2) ~ A-I11, B-1, C-IV, D-II

(3) A-IV, B, C-11I, D-Il

(4) A-,B-l, C-IL,D-IV

131  Faste 2l orfaan 351 -
(1) WWF (2) FOAM
(3) TUCN (4) GEAC
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132 Mateh List D with List 11

List } Liat 11

A. Nucleolus 1. She of formation
of glycolipld

3. Centriole 1. Organlzation like
the enrtwheel

C. Leucoplnsts . She for netive
ribosomnl RNA
synthesis

D. Golgiapparatus 1V, For storing nutrients

Choose the correct answer from the options glven
below:

(1) A-lL, B-111, C-1, D1V
(2) A-lIL, B-1V, C-11, D-1
(3) A-L B-11, C-11L, DIV
(4)  A-NL, B-11, C-1V, D-1

133 Match List 1 with List 11

List 1

. List 11
A. Rhizopus I.  Mushroom
B. Ustilago Il Smut fungus
C. Puccinia . Bread mould
D. Agaricus V. Rust fungus
" Choose the correct answer [

134

135

R6_Bengali+English |

~ D.

om the options give
below: P g

(1) AL, B-1lI, C-I1, D-1V
(2) A-llL, B-II, C-I, D-1IV
(3) AV, B-IIl, C-II, D] °
(4). A-lIl, B-I1, C-1V, D-|

Identify the set of correct statements:

A. The flowers of Vallisneria are colourful and
produce nectar,

B. The flowers of waterlily are not pollinated
by water.

C. In most of water-pollinated species, the
pollen grains are protected from wetting,
Pollen grains of some hydrophytes are long
and ribbon like.

E.

In some hydrophytes, the pollen grains are
carried passively inside water.
Choose the correct answer from the options given

below:

(1) A,B,CandD only
(2) A,C,DandE only
(3) B,C,DandE only
(4) C,DandE only

Bulliform cells are responsible for
(1) Protecting the plant from salt stress,
(2) Increased photosynthesis in monocots.

(3) Providing large spaces for storage of sugars.
(4) Inward curling of leaves in monocots,

133 onihar | ad oee ol 1] canepin

oM | LT TR

A, (& perann I s aiiMiMe
NOAMA

n, it I, MY niarq
I8 Mo Do

C, (Mo imnin 1. sl affcamay,,
RNA Meimanimy
w1 o]

D, w49 IV. t10e smn 4q

Movs ardl) a4 oo Ada aq i oy
(1) A-ll, B-111, C-1, D-IV
@) A-lll, B-IV, C-I1, D-I
(3) A-l, Bl C-111, D-IV
(4) A-lll, B-11, C-IV, D-I

133 oifd4a1 | ad et okl [ crenn

134

135

30

oty | a1 11
A, Al . wae
B, ®/Bason I Raaif® gon cam
C. sl M, Mg won
D. el IV. 31en tam oBgq
wald

M gna Ciaenogii o1es 14 D e o
(1) A-l, B-III, C-II, D-IV
(2) A-lI, B-1l, C-I, D-1V
(3) A-1V, B-lll, C-II, D-1
4) A-llI, B-II, C-1V, D-I

D4 Frofo R ot

A, wnfbsieaiasn por oan 4@1er ade 3 Besmeydy

B. . Mg ytatd MAmNM arteld MM ay o

C.  oteld 3nsea 1 Boniate stime aa, ol
Aty el yitatil

D, Py Py arerer Ohwind mamcae snls o
fipaiqfts o |

E.

fang, Fryg, ororen Bftwong eI il ey
ol / Mmuie 4o ayl

MG el e s 3ds Baafd Yase +q;
(1) @41 A, B, Ca4e D

(2) @44 A, C,Da#tE

(3) w44 B,C, Daat E

(4) @4a C,DuatE

R G aig @ar i o1 ae-

(1) ®fhwing squalkio sis e 41 41

(2) waNand Bhem Mesndnaing s

(3) = @i diwid eer o s A4
(4) aaeasd Olhwm sog enwiede ydos aoa
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(36 Match List | With 1

137

138

Jotany : Sectionin ——
1 “‘l.lﬁl'_ﬂl}__(_g:_ri o.
ot 1 ist 11

List ‘ LT
(Types of Stamepg) (Examp]
A. l'vl(.'nnt:mdclph..:,"s ~AiMmple)

3. Diadelphoys |i_ ;:ms
C. Polyadelphqyg 1. Liln'
D. Epiphyllous v Ch?m—r
Choose the correct answer from llile : -
. Plions given

(1) A-IV, B-L cy, pyy
(2) A-lL B-I, C-1v, D11y
(3) A-lIL B-I, C v, D-I1
(4) A-1V, B-II, C, D-I1]

Identify the step in tricark,
does not involve oxidation of substrate.
(1) Succinic acid — Malic acig

(2) Sutcinyl-CoA — Succinic acig
(3) Isocitrate —» & -ketoglutaric acid
(4) Malic acid — Oxaloacetic acid

The DNA present in chloroplast is:
(1) Circular, double stranded

(2) Linear, single stranded

(3) Circular, single stranded

(4) Linear, double stranded

oxylic acid cycle, which

139 Match List I with List I1

List I List IT
 A. Frederick L Genetic code
Griffith :

B. Francois Jacob II.  Semi-conservative
& Jacque mode of DNA
Monod _ replication

C. Har Gobind IM.  Transformation
Khorana

D. Meselson & - IV. Lac operon
Stahl

140

Choose the correct answer from the options given
below:

(1) A-IIIL B-IV, C-I, D-II
(2) A-Il, B-IIL, C-IV, D-1
(3) A-IV, B-I, C-II, D-III
(4) A-II, B-II, C-I, D-IV

Which of the following are fused in somatic
hybridization involving two varieties of plants?
(1) Somatic embryos

(2) Protoplasts

(3) Pollens

(4) Callus

36 o 150) |

V 136

137

138
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(S1remmrrg gy 1&1-%«-1'.».1}
A

R B [Pt rfitar [1 car-m
G1Pray

SR IN
(#=1z.4-1)

bt [ 2 I e
B i]"'f’j\“i I sing
C. R HI,  ~tigs a1 Pafx
D.  spostsimegom IV. &
MNis

A ﬁarﬂﬁ;_f‘et L AfSS Wod s am-
() Av B-I. CI1. D-111

(2) A-L B-IL C-1v, ppip
() A-lIL, B-1. C.1v, popy
(4) A-IV, B-11, -1, Doy

S FH RS NN Staa stan1u w9 s AT45e
ittt sirger zy o)
(1) st FNHY - T Ao

Q) mprenge ey A > AR s
Q) @BwmRES — oy
(4)

IS TsiBas DNA = -
() s@1#13, o

(2) NANAT, avod

()  sm3E, azem

(4)  w=dtatys, frasg)

m&ﬁtﬁiﬁﬁ‘ﬁ MY
T BBy — FARIATHNH®S Py

139 @it | asq W w1k 1] e

GI# |

SiR 11
A. @S Bt L cwafs @
B. mss sy II. DNA 3 snsfyas
8 SIF AEry TN sufofiPraag
C. =avnufyes pyramen III. ==m3
D. iwiewa g soe V. ans gisrag

MBa AF=s15P i s Bog Baes #3;
(1) A-NI, B-1V, C1, D11
(2) A-1I, B-1lI, C-IV, D-1
(3) A-IV, B-L, C-I1, D-III
(4) A-IL B-IL, C-I, D-1V

Stwrg 5% Bsrafoa 313 Avammg el lsa
1t aPezs zy 2

(1) i go

(2) tenivisesd
(3) stam
(4) A A RN Pl

| Contd...
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142

143 Match List I with List IT

R6_Bengali+English |

ListI List IT
A. Robert May [. Species-Area
relationship
Alexander von II. Longterm
Humboldt ecosystem
experiment using
out door plots
C. Paul Ehrlich M. Global species
' diversity at about
7 million
D. David Tilman [V. Rivet popper
hypothesis

Identify' the correct deseription about the given
figure:

Water pollinated flowers showing stamens
with mucilaginous covering.
Cleistogamous flowers showing autogamy.
Compact inflorescence showing complete
autogamy.

Wind pollinated plant inflorescence showing
flowers with well exposed stamens.

(4)

Given below are two statements:

Statement I : In C; plants, some O, binds to
RuBisCO, hence CO, fixation is decreased.
Statement II : In C, plants, mesophyll cells show
very little photorespiration while bundle sheath
cells do not show photorespiration.

In the light of the above statements, choose the
correct answer from the options given below:
(1) Both Statement I and Statement II are false
(2) Statement I is true but Statement Il is false
(3) Statement [ is false but Statement II is true
(4) Both Statement [ and Statement II are true

Choose the correct answer from the options given
below:

(1) A-ll, B-I, C-1V, D-1I

(2) A-l, B-llI, C-I1, D-IV

(3) A-III, B-1V, C-II, D-I

(4) A-II, B-1II, C-I, D-IV
32
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142
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e it (B ar2s1iF MR Pra4(B ~ana 44

wrststali) s{ost, M1 SR SR B 1 oy
w4l D14 ALB]

e ganESid) S e

e el s|esHEs X1 S=pIaIm Jwre g

413 st Sfkwn, S AT FagR s
A AL WA A o1 il

(2)
3)
(4)

ANies 5% Pl eaxn sees
Prfs 1 : C; Sfww, g O, RuBisCO #ia % 73,
wioad, CO, AF=E g1 Jro =3
Pafs 11 . C, Sfvws, cawstiffee @19 43 1 sy
AP PE B D146 F1fewe S 19 F1EN g3
e wie 4 A1l
Wodd [A3fe Agraa entEns s gns fim?mlra
(L AP Tod Ridiee $4:
(1) " Fgfs [ was s 1 Suwz ga

(2) Fafs [ Al Mg Rl I g
(3) s [ wa g Al I sl
(4) 3 1 aas gl 1 Sew?s afds

oiféis 1 ag sicss aife 11 e
wiftr 1 oifg=st 11
A, F@iSm . senfo-rwg
‘ AsiH
B. @nEseayid 1. 3EE@EY 3sa
@e ZINEITH A1 B4 AP
aprgowd Rl
C. =8 adlds I, 53 a3 4
& t4iby

D. ey [Berans IV, F@® sisnd s
Rits s Riaesisgfdl cars ¥+ ¥4 Rianes 34
(1) A-III, B-I, C-1V, D-II
(2) A-l, B-I1I, C-II, D-1V
(3) A-lI, B-1V, C-11, D-1
(4) A-Il, B-IIl, C-1, D-IV

[ Contd...
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n ecosystem if the Net Primary Productivity:
144 }"N?,P) of first trophic level is Y

100x (keal ™) yr~', what would be the GPP

(GI'OSS Primal')’ _Pl’OdUCtiVity) Ofthe third
trophic level of the same ecosystem?

(1) x(kca!m"z)yr"
@
(€)

10x (keal m_z) yr_]

100x

(keal m_z) yr_1
3x

1

(4) I_xa (kcal m_z) -

which of the following statement is correct
regarding the process of replication in E.coli?
(1) The DNA dependent RNA polymerase
catalyses polymerization in one direction,
that is 5° —3°. :

The DNA dependent DNA polymerase
catalyses polymerization in 5 — 3’ as well
as 3’ — 5 direction.

The DNA dependent DNA polymerase
catalyses polymerization in 5> — 3° direction.
The DNA dependent DNA polymerase
catalyses polymerization in one direction
that is 3°—5°. '

145

@)

€))
“)

146 Match List T with List 11

ListI - List I1

A. Citric acid_ I. - Cytoplasm
cycle : _

B. Glycolysis II. Mitochondrial

. matrix .

C. Electron III. Intermembrane
transport. ~ space of !
system _ mitochondria

D. Proton IV. Inner g
gradient mitochondrial

membrane_ _
Choose the correct answer from the options given
below:

(1) A-II, B, C-1V, D-III
(2) A-I11, B-1V, C-I, D-1I
(3) A-Iv, B111, C-II, D-I
(4) A1, B-IL, C-I1I, D-1V
- Spm}’ing sugarcane Crop with w_'hlch of i;:lc
following plant growth regulators, increases he
length of stem, thus, increasing the yield?
) Gibberellin ~ (2) Cytokinin
3) Abscisicacid ~(4) Auxin

R
§ Bengali+English ]

33

144

145

146

‘D. tise ogan

147

214 51 +
E1E] APPetEd B wriFotEd 230 H1mid

-2 -1
Westm (NPP) ufh 100x (keal m Yy~ =l
&+ GesIn

& APgoEd QO Wi O uit gl
(GPP) a5 =t 7

(1) x(}ca! n»:'z)y?"'I

(2)

(3)

4 -1
10x (keal m 2y yr

100x

(kealm™ ) yr™t u
3x

4) i‘(kcaf m"z) yrq_l

10
E.coli a4 aftfuaaa szt ANes toun e Pt
& 1= ?
(1) DNA figaiet RNA s« amwmaaﬂ
wiafbe #1a aait afege 1 =4 57— 37 |
DNA Rig#*liel DNA sifaias agrsuelods
eigaibo $H0G SE ARA-ARA 57— 37 a3
3’ — 5’ vy _
DNA Riga izt DNA =stfEstiias asmsaeigds
olieuibo #td 57— 37 oifteyral
DNA f@gaNs DNA sifEanas as=ualoas
SEaite Fd aalt wfegey a1 =@ 3°— 5

2)

3

4)

oifa 1 az st iftis 11 caeng
w1 ‘et 11
A. wBls onBre s [, wiEieeren
B. B IL w3y gy
C. RwiaGel B [l wiBiviz=aiys
Eilercn) o s

_ IV, wZisiefyn amsti
Mes 273 Faesifn cae a1fda S o anw:

(1) A-IL, B-1, C-IV, D-III

(2) A-II, B-1V, C-I, D-II

(3) A-1V, B-III, C-I1, D1

(4) A-1, B-II, C-II1, D-1V

N6 MBI e Do qity ﬁm&eﬁwmis oY TALEE

Y B 3 e 1 ey ity Tam, oIR
woreg ity sy ? it

(1) Rericake (2) -BRBIFRRE
() =Mk Ny (4) widE '

[ Contd...
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'(2) AV, B-III, C-II, DI

owp

Read the following statements and choose the set

of correct statements:
In the members of Phacophyceac,
A. Asexual reproduction occurs usually by

biflagellate zoospores.

Sexual reproduction is by oogamous method
only.

Stored food is in the form of carbohydrates
which is either mannitol or laminarin.

The major pigments found are chlorophyll
a, ¢ and carotenoids and xanthophyll.

_ Vegetative cells have a cellulosic wall,
usually covered on the outside by gelatinous
coating of algin.

Choose the correct answer from the options given

below:

(1) B,C,DandE only

(2) A.C,DandE only

(3) A,B.CandE only

(4) A, B.CandD only

B.

Match List I with List IT
ListI List IT
A. Rose I.  Twisted aestivation
B. Pea II. Perigynous flower
C. Cotton III. Drupe
D. Mango TV. Marginal placentation
Choose the correct answer from the options given

below:
(1) A-L B-I, C1II, D-IV

(3) A-IL B, C-IV, D-I
(4) A-IL B-IV, C-I, D-II

Match List I with List II
List I
GLUT-4
Insulin

Trypsin

List IT

Hormone

Enzyme
Intercellular
ground substance
Enables glucose
transport into cells
Choose the correct answer from the options given
below: ' -
(1) A-I, B-II, C-TI, D-IV

(2) A-II, B-II1, C-1V, D-1

(3) A-lI, B-1V, C-1, D-II

(4) A-IV, B-1, C:II, D-III

I
1I.
1.

Collagen IV.

34

148

149

150

D

Mo anr U4 s15 4 0 AS 4170 s

4

apr e geniseita s

A. A 5B miess kS qustid saa wsig
wratat st |

B. e siwafls sl G A5 e ol

C. #iPgs wist Al ~@d enda a amlide woy

Anfiraifye i ansl

su1el 9a PRI @11 a, ¢ ads SRy

g @cefive $s1Ras Al

eI S [T 21814, A1 Ao

Reretif=1 & @il wa1 Qo Al

Nes v Praesfa (s AR+ IS Riea 4

(1) === B,C,DaatE

(2) waa A,C,Dax:E

(3) w@was A, B, CuatE

(4) @4 A,B,C a4t D

E.

ot [ a3 sites eifE# 11 oreng

eiftr#1 | et 11

tistst I PRGEY oD FEnd
. W |V O

HI511A III. =fss g=1
. Iy V. «rifix sruadiiEens
Mo #wa AF=fl e A o9 BAea 4
(1) A-l, B-II, C-III, D-IV
(2) A-IV, B-III, C-II, D-I
(3) A-IL B-IIL, C-1V, D-1
(4) A-IL B-IV, C-I, D-III

O0w

cifti [ @3 siws eif 11 wes

eiftrer 1 eIt 11

GLUT-4 [. =aFwmE

Bayfera II. Te@sd

g lEC] 1. SNy 9w

biafrsTe [V. 1 =S
ElEEETS
ARINO! A

oow»

Mt 27T PRt (ae Aib+ IsElb @t Al
(1) A-1, B-II, C-III, D-IV
(2) A-II, B-I11, C-1V, D-1
(3) A-III, B-1V, C-I, D-l
(4) A-IV, B-1, C-II, D-Il

| Contd...
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Zoology : Section-A (Q. No. w—ﬁ‘]
Match List 1 with List 1] - -
51 st List 11
¥ 4 by
(Sub Phases of (Specific
P':ol)-h“s,? D characters)

A. Dinkinesis I Synaptonemal
complex format;

g, Pachytene 1. Cm"[:)]eti(}n [T}ltgtmn
terminalisation of
chiasmata

C Zygotene . Chromosomes

' look like thin
threads

p. Leptotene IV.  Appearance of

' recombination
nodules
Choose the correct answer from the options given
W
?f)lo A-L, B-IL, C-1V, D-III
@) AL B-1V, C-1, D-III
3) A-IV, B-III, C-1I, D-I
4) A-TV, B-1L, C-11I, D-I
152 Consider the following statements :
A. Annclids are true coelomates
B. Poriferans are pseudocoelomates
C. Aschelminthes are acoelomates
D. Platyhelminthes are pseudocoelomates
Choose the correct answer from the options given
below :
(1) Aonly (2) Conly
(3) Donly (4) Bonly
' List I with List IT :
~ Mé}j‘i::tl List IT -

A. Pons I. Provides additional
space for Neurons,
regulates posture

' and balance.

B.- Hypothalamus II. Controls
respiration and
gastric secretions.

C. Medulla III. Connects different .
regions of the
brain.

D. Cerebellum IV. Neuro secretory
cells

Choose the correct answer from the options given.

below :

(1) A-IIL B-IV, C-II, D-I
(2) A-I, B-III, C-II, D-IV
(3) A, B-I, C-III, D-IV
(4) A1, B-1II; C-L, D-IV

1 .
M Which of the following factors are favourable for

the formation of oxyhaemoglobin in alveoli?

) High pO, and Lesser H* concentration

() Low pCQ, and High H* concentration
Low pCO; and High temperature

151

152

153

154

“) High PO, and High pCO,

RS Beggor:
o 'engaIH-EngliSh ] 35

B. stia#i5 it I

D. @siwifeg

A

oifEst 1

A. #EA L.

B. =miBusnaAnards

C. el

- D, @itaEEd

e

Glfdr | VE R TR Ol [|
Gl | ‘
(B1t7en- | gy

G sy
e

4]y

P ]
(P

APrits)
BB
FAD 5o
S 317
et AANGG
@] e
[ lA i |
FSIE B

IV, spspreafy o

Pruoa steens i (e sifss Wod Rirdiver 44:

(1) A-1, B-I1, C-1V, D-III

(2) A-IL, B-1V, C-I, D-IIT

(3) A-IV, B-I, C-II, D-I

(4) A-1V, B-I1, C-I11, D-I

fereod Figfosfa Rrasen &4

oY Ay a9 @30 Hrem g den
B. sifstwn Agm =3 w1 Preeira @ aief)
C. ot ecas 2@ Menafae aeh
D. sifbraienas zd g5 Henmgg 2

“deea Piaest (s A Tod @l AN

(1) @as=A (2) w1 C

(3) =@ D (4) == B

e e L

oiftial 1 ad st o 11 e

eifersn 1

oA e
sifsfaE e (RY,
Elfol ads
QA

fisger #13

e @4 ST
el [isger Fd
Afored o=
BT LS
GarsTEAS dAIste
ErcilEiciEs

et ]

Rits s Fraestsfi (s oifds 9o e 35
(1) A-I, BV, C-IL D-1

(2) A-L B-IIL C-II, D-1V

(3) A-II, B-, C-I1, D-1V

(4) A-L B-1II, C-I, D-1V

3 Aigafne Fibd @1 ~g oifd-Pronernie

II.

I1I.

V.

a5l (@ HEIfo 6 ?
(1) ¥ pO, vk eesra HY :u:l t_uu.-
(2) FB= pCO, u oy H™ adt Ned
(3) PRrapCO, 83 Vs v
(4) W pOy ¥t w6 pCoO,
| Contd...
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1 division !
Cytokinests
Knl-‘.’ﬂkincﬂls

Following are the s !
N i > slapes ol ee
r‘}. t\mp 2 phase > 13.
C. Synthesis phase D
L.  Gap I phase ! -
Choose the correct'sequenc
options given below’:
(1) E-B-D-AC (0 (2) BDEAL
(3) E-C-A-D-B (51 (4) C-E-D-A-B

iven as a, b and c.

Three types of musdles are 8% . ;
Identify the correctimatching pait along with their
location in human body :

e of stages from the

e

(b) Zﬁ_} (c) .

Name of muscle/location
(1) (a) Skeletal - Triceps
(b) Smooth - Stomach

(a)

Cardiac - Heart.
Skeletal - Biceps
ry - Intestine

(c)
(a)
(b)
(c)
(a)
(b)
(©)
(a)

2)
Involuntai
Smooth +Heart.
Involuntdry - Nose tip
Skeletal £Bone
Cardiac { Heart.
Smooth - loes
(b) Skeletal %egs
(c) Cardiac ~'Heart.

157 Match List with List II :
ListI

Down’s syndrome
o.-Thalassemia ™
B-Thalassemia ol
Klinefelter’s

syndrome ) ¢ _ '
Choose the correct gnswer from the options given

below :

.4t
(1) A-IL B-IL Crl: D-I
&3 p

(3) A-IV, B-1, CI, D-11
(4) . A-1, B-11, C-11T D-IV
Which of the fé&”{}owing are Autoimmune

(3)

“4)

List 1T

[. 11t chromosome
‘X’ chromosome
7218t chromosome
16th chromosome

111
IV.

oW

158

disorders?

A. Myasthenia é;ﬁvis

B. Rheumatoid afthritis

C. Gout (Ji :

D. Muscular dysirophy

E. Systemic Lupus Erythematosus (SLE)

Choose the most appropriate answer from the

options given below :

(1) A,B&Eonly (2) B,C&Eonly

(3) C,D&Eonly (4) A,B&Donly

R6_Bengali+English |
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157

U0 w>

158

frsarfioamfin o8 LA s g qo1 Hio

agrrst 2 e j

I8 IB1a13 a9

seearst A1 Hapafhsn

anfaus12eAHR

st | A=y

Rresa Fraesrgf oty AB 4 - aal o 44
(1) E-B-D-A-C r"_f (2) B-&E-,ffém "
(3) E-C-A-D-B" (4) C-E-D-A-B

moOw >

fiewel ol 1414 (1) a. b a4: ¢ a4 by omA1 54
NEALTE, atid T4 Az AfSS AP 163 5

A1 AHCHAE o1 [ AP

(1) (a) eBaisN- RoNatestN
(b) =Hetest N - SN

(c) zaeusr - AiePray

(a) wiBastrls e o1
(b) eiteifm=taN - o

(c) wperesiY ey

() oiteiforgy - b o
(b) @ifast, 5 @i

(c) =gt ;e

(a) percstN - sarfH

(b) wifatst - AP

(©)

meesaN - el

G 1 ag Ar-oifti [ EE

eIt | i st 11
oi®e affo e L 11t @srraen
o e (0 1. X' @naiesrs
B ez 451 1L 215t @anan
si8e ey L4 Iv. 16Mh @npaver
(1e1eTshel i
Ryed Paaest sffer (Ui Ass Tod
(1) Al B-111, C-1V, D-1

(2) A-lI, B—IV,.E;I, D-1l

I

(2
(3)

@)

IEE (T =

(3) A-1V, B-l, C-11, D-1II

(4) A-I, B-II, C‘ 1, D-1V

P e A et e ?
A. sl et

B. RNty ﬂrgﬂ”ﬁ.rﬁm

C. o 4149y
D. wwigen Rt
E.  Pusshi apror Raienniioni (SLE)
Ricsa stmesflS (Aib AL a3 Wt 1E14IbE 44
() el A, BuatE  (2) el B, CudtE

(3) el C,Dut B (4)  ebutel A, BadD
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Given below are two statements : onc is labelleg
g H Lol L ¢
Assertion A and the other is labelled

5
159 as

Reason R: 1

Assgrnon)\: [-S.H acts,upon ovarian follicles in
female and Leydig Cc“‘? in male.

Reason R : Growing Ptvlarian follicles secrete
estrogen 1N female while, interstitial cells secrete
androgen in male humatn‘ being.

n the light of the abovg, statements, choose the
correct answer from the options given below
(1

Both A and R are true but R is NOT the
correct explanation of A.

@ A is true but R1s fﬁjysc:

€)

Q)

ds

A is false but R is tue
Both A and R areé&le and R is the correct

explanation of A, O
3]
n below are two st%i_gments -

ment I : Inthe nep \ron, the descending limb
nle is impenneable to water and

Give
State

of loop of Hﬁl e
able to electrolytes.
perme x%imal convoluted tubule

Statement 1I : The pro?

: . : 4
is 11nEfi by sm?ple c{&umnar brush border
epithelium and mcrea{igs
reabsorption.

160

the surface area for

In the light of the.abo %) statements, choose the
ptions given below :

correct answer from th .
(1 Both Statement I: _*'kd Statement II are false
(2) Statement 1 15 truéBut Statement 11 is false

(3) Statement 1 is false but Statement II is true
(4) Both Statement I and Statement II are true

o statements : one is labelled

Given below are tw
d the other is labelled as
8 -

as Assertion A an

Reason R : .
fé&ding during initial period

Assertion A : Breast-
of infant growth is recbfhmended by doctors for

bringing a healthy bable!

Reason R : Colostrum dantains several antibodies

 absolutely essential to develop resistance for the

new born baby. '

In the light of the above statements,
most appropriate answér from the options given
below : e _

(1) Both A and R are'correct but R is NOT the

correct explanati Hof A.
g; i :2 correct but R\s not correct.
@) BOIhI::t correct b&f;\l is corrcc‘t.
and R are dbfrect and R is the correct

161

choose the

160

161

explanation of A.

R6 Bekoai
T ga’l+EngliSh ] 37

(118 \

s yih gty tnmaann o 40 Prrnomfe A 94
i s R

RPrstmfeA : sx@ntod NEamg Yol ad-

e Er i f

].-L'ﬁ-r*.‘_i sy a4 "?';"l'.l FSH [paq Aeql

1R BILEE ] fNEpAstd e 2 oinaa

At s (4 .

) JHU1 DIPTSR AL Shefet A1
1t [4flnaiand ontenta [iend BaesisfE o ik
Yol FGa a4

(1
(2)
(3)

4)

Aw4:RH3 % Hf&:ﬁ(ﬁllcﬂ R. A @4 Af34 Ani
A niss 3 R [}!ﬂ';}
A @al T4y R 1340
Au4tRyE % :rli!at:ﬁr!san R 54 A ad 34 410
()
}!.'.‘.l.
Rits yits ffla s o ;.
Pafts ] : ptald e gistd otsara A1 R s
wtere AT SRl aaj_jsf@q Rieaesr ALSGE (oall
fegfts 11 : s1pEisad ATEFIE oG A4 FOROlPIA
A-Eg YE oA A ads AR a-ll
sosated e 44 %%i
Ysitad g WA pEns As s HaesfA
e AfF o fiibel e
(1) Pl [ wde B [1'vwwig gel
(2) fagf [af34 g i 11 gat
(3) Ffs g g Fgfo 1l s1i%%
() Pfelaas gl SR A%
. : (_"g

-

: 0o
Ries it IS OHT e it RrerfF A aae

ol #roR P [BREo F41 ]AR -
Rae A o ‘gt‘ri.lﬂm; HILH HIG-§™ G
fsfesica Foimtel A o Pref G w314 il DT
st R 3 @esii @ fayg ol wiE N
sjHI@t BlellNIol 'Thlia sl Rifpse end wll
FCETCEREE ICRE SE) Wl&ﬁlf{&;" Rigsa Prapestsff3i cueh A1+
it Riise 4 Eé:
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Match List Twith List 11 :

162
List 1 List 11
A. Cocaine 1. I“fTective sedative in
surgery
B. Heroin 1. Cannabis sativa
C. Morphine . Ervthroxylum
D. Marijuana IV.  Papaver sommniferum

163

SRR IS

164

A I
B. II.
C. Stomochord I1I.
D

165

166

R6

Choose the correct answer from the options given
below :

(1) A-L B-I1, C-II, D-IV

(2) A-ll, B-1, C-II1, D-IV

(3) A-IIL, B-1V, C-1, D-II

(4) A-1V, B-III, C-1, D-lI

Match List I with List I :
List I

Ptéerophyllum L.
Myxine IL.
Pristis II.  Angel fish
Exocoetus IV. Flying fish

Choose the correct answer from the options gwen
below :

(1) A-II, B-1, C-II, D-IV
(2) A-IV, B-I, C-II, D-III
(3) A-IIL, B-II, C-I, D-IV
(4) A-IL B-I, C-III, D-IV

Match List I with List II :
List I

. Pleurobrachia
Radula.

List 11
Hag fish
Saw fish

List IT
Mollusca
Ctenophora
Osteichthyes
. Airbladder =~ IV. Hemichordata
Choose the correct answer from the options given
“below :
(1) A-II, B-I, C-IV, D-III
(2) A-II, B-1V, C-I, D-III
(3) A-1V, B-III, C-II, D-I
(4) A-IV, B-11, C-III, D-1
In both sexes of cockroach, a pair of jointed
filamentous structures called anal cerci are present
on:
(1) 10% segment
(3) 11" segment
The flippers of the Penguins and Dolphins are
the example of the
(1) Natural selection
(2) Convergent evolution

(3) Divergent evolution
(4) Adaptive radijation

- (2) 8 and 9" segment
(4) 5t segment

_Bengali+English | 38

162

164

165

166

SRR T ad ae o arffan 11 ey -
Griftar | a1 a1 1)
A, LB I S AR EEtTPN At
SgAter =14
B. tmiai3a . Arrnfe spyfae,
C. wafls= L. afacararzaq,
D. wmifagsuen V. strrstrears Eak sy,

Fresa Prasstogff s af5a Bz Rraineg 44
(1) A-IL B-IIL. C-II. D-Iv
(2) A-IL B-I, C-III. D-1v
(3) A-II, B-IV, C-I. D-II
(4) A-1V, B-III, C-I. D-II

163 wifssr | a3 st Gifsa I e -

oIRr+1 I Bl |
A. GBeamiZena (Prerophyllum) 1. anm o
B. Bifza (Myxine) . #4015 ap
C. Pafes (Pristis) M. =meges o,
D. wwziBier (Exocoetus) IV. By ar

Rrisa stzens(fé (1t A%+ I3 Riioa 44

(1) A-II, B-1, C-I1, D-IV

(2) A-1V, B-1, C-II, D-III

(3) A-lI, B-II, C-I, D-IV

(4) A-IL B-I, C-III, D-1V

wiftis [ wa a3 eiftis! 11 e ;

oiftrsr 1 eIt 11
BeiGtaiifE I et

EHIvE] I[I. Beetrcwrn

GBIy . @ffesazs

A1y oSl IV. afsdis

Rriea Faessfi (s a1fds oo Riaiser a9

(1) A-II, B-I, C-1V, D-III

(2) A-, B-1V, C-1, D-1I1

(3) A-1V, B-I1I, C-11, D-I

(4) A-IV, B-II, C-11I, D-1

s[5 @4 3§) A1 FOLNA IR @brsiel A
HHAS s1%el N2 wifletisl A1 FBAG AL

(2) DA @ie oA AL
(4) =19 e

Sowp

(1) W ey
(3) aFm™ yiay
et et wts eiftierd Bostra sy Rreldiiied St
(1) =1Ffow Fiiee

(2) cafloaE Frase

(3) s fHde

(4) wiflexne-d Pl

QcJIIegé‘c{uma



Which of the followin
) Mps} commonly
stirring type,

2) Bio-reactors are used to produce sim

3)

167

g statements s j

: Carreel?
used bio-

reactors pre of
; all scale

bacterial cultures.

Bio-reactors: have an agit

anoxygen delivery system an

system.

A bio-reactor provides optimal growth

conditions for achieving the desired product.

ator System,
d foam contro]

“)

which one is the correct product of DNA
dependent RNA polymerase to the given

late? '
S TACATGGCAAATATCCATTCAS’

0 5’ AUGUAAAGUUUAUAGGUAAGU3®
) 5’ AUGUACCGUUUAUAGGGAAGU3®
3) 5 * ATGTACCGTTTATAGGTAAGT?®
4) 5’ AUGUACCGUUUAUAGGUAAGU3®
ist 1 with List II :
I Ma[.t‘i::t]fls” List II
i joints [. Adjacent
. BTN vertebrae, limited
movement |
ilaginous II. Humerus an
. Jff)?[rltt;lag Pectoral girdle,
rotational
movement
C. Hinge III. Skull, don’t
joints allow any
movement
D. Ball and IV. Knee, he_:lp in
socket joints locomotion

Choose the correct answer from the options given
below : '

(1) A-L B-III, C-II, D-IV

(2) A-IL B-III, C-I, D-IV

(3) AL B-I, C-1V, D-II

(4) A-1V, B-11, C-11, D-I

170 Match List I with List IT :

List I List IT

A. -1 antitrypsin I.  Cotton bollworm

B. CrylAb II. ADA deficiency

C. CrylAc IlI. Emphysema

D. Enzyme IV. Com borer
replacement
therapy

E:!f:)t::? the correct answer from the options given

() A, BL, qp, popy
@ AL BV, ] py
s AL, B-1V, C., D
) AL B, C-1V, D111

Rﬁ-ﬁtnga“"'English ]

39

167 R b4t Fr4itafts afsa7

(D) stteties angsppaegania AAZE L) 218 s rg1Al
UG 41 SBpnfie 1484 k .

R E B [T RETTE ST S Pt eqans a1 )
A0 |

ENPy-pea MiLsd asi®B aifp
B st oyem g,
B 91|

B MR-l Bt Yam di=s44044 (Ul

TS Sy get AV MOAMA Digin e
BT oo s +e-l

168  Ritod strs BG4 Bl DN A Eieafa RNA “isnngm
BB R Bestin et 2
3’TACATGGCAAATATCCATI‘CA5’

(D S’AUGUAAAGUUUAUAGGUAAGUT
2) 5’AUGUACCGUUUAUAGGGAAGUT
3) 5° ATGTACCGTTTATAGGTAAGTB 2

4) S’AUGUACCGUUUAUAGGUAAGUE’

169  wifi#i | ua HLw BliE=1 [ ey -

(2)

(3)

ey, qaft
A%yt aga

(4)

4

GifErs | Giftr 11
A. orun ARy L Rigsad
PV,
) ARG [H6ete
B. omeaiByny sy II.  #wesiBy gas
G Hear,
Porsiils Meg
C. %% 3y L. s, Esee
f15e1s we1Bae
D. w@ita sifta V. =i%, s15ta s
Ft4

Bioe zme e s s Soa Ridiea a2
(1) A-L B-lI, C-1I, D-IV
(2) A-II, B-III, C-I, D-IV
(3) A-II, B-I, C-IV, D-II
(4) A-IV, B-II, C-ITI, D-I

10 =ifE# 1 a3 siess ettt 11 oo -
oIftr#r | eIkt 11
A.  o-1-SINEsEB3e I 3% Faisnus
B. CryIAb II.  ADA wofeRicafs
C. CrylAc III.  auwrRomm
D. Wewiss IV. @ e
AfovIs1teig (a1

Gifisr 1 aa s1gos iyt [1 iweng
(1) A-IL.B-I, C-H. DIV
(2) A-II, B-1V, C-1, D-II
(3) A-IIL, B-1V, C-I, D-III
(4) A-Il, B-1, C-1V, D-1II
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171  Match List | with List 11

; List 11
List I .
‘ “entriole
A, oneme 1. C_tl. ntrio
B, clwheal . Cilia and flagella
altem
2 E‘n-:t'g 1l. Chromosome
D‘ Satellite V. Milochond_na .
o Im::mc the correct answer from the options given
belov

5 ATV, B-IL. C-I1I, D-1
fz} A-IL. B-1V. C-1, D-I1I
(3) A-IL B-I, C-IV, D-II

(4) A-IV, B-III, C-II, D-I

172 Following are the stages of pathway for
conduction of an action potential through the
heart:

A. AV bundle B. Purkinje fibres

C. AV node D. Bundle branches

E. SAnode

Choose the correct sequence of pathway from the
options given below :

(1) A-E-C-B-D° (2) B-D-E-C-A

(3) E-A-D-B-C (4) E-C-A-D-B

173 Given below are two statements :
Statement I : The presence or absence of hymen
is not a reliable indicator of virginity.
Statement IT : The hymen is torn during the first
coitus only.

‘In the Ilght of the above statements, choose the
correct answer from the options given below :
(1) Both Statement I and Statement II are false
(2) Statement I is true but Statement II is false

3) Statement I is false but Statement IT is true
(4) Both Statement I and Statement II are true

174 Match List I with List II :

ListI List 1T
A. Common cold I Plasmodium
B. Haemozoin II. Typhoid
C. Widal test III. Rhinoviruses
.D. Allergy IV. Dust mites
Choose the correct answer from the options given
below :
(1) A-lL B-11I, C-II, D-IV
(2) A-II, B-I, C-1I, D-IV
(3) A-IV, B-II, C-II, D-1
(4) A-II B-1V, C-111, D-I
75 Match List I with List I1
List I List T
A. Typhoid I.  Fungus.
B. Leishmaniasis II. Nematode
C. Ringworm ITI. Protozoa
D. Filariasis IV. Bacteria
Choose the correct answer from the options given
below :
(1) A-IV, B-1IL, C-I, D-II
Q) AL B-l, C- IV D-1I
(3) A-II, BIVCIII D-I
(4) A-1, B-III, C-II, D-1V

RG__Bengah+Engl|sh ] 40

171 wiisar | aa sieem @i 1 earsgsy,

SIS | aS1Prs 11
A, =i l. L3123 2
B. aiB-c8n 9159 [ 4% 94 @iy
C. fasen Il tareamnmm
D. snisaas IV. a3 isiesrfyan

ferred “Tﬁ"if_j_f‘ﬂ LAt Jﬁ{m P Prainer &4 -
(1) A-1V, B-II, C-III. D-I
(2) A-IL B-IV. C-I, D-Ti]
(3) A-IL B-1, C-IV. D-II
(4) A-IV, B-TIL. C-I1, D-]

172 =isPieyd eod e I3nitea sifaaga siog A5ty
=l :
A. AVasz qiaieve B, siaisars o3 Ag5
C. AV D. aeyted seal w3z
E. SAw@mw
fErted Fa==19f (a1 A3 suara a5t Sgaaa s
¥4 :
(1) A-E-C-B-D (2) B-D-E-C-A
(3) E-A-D-B-C (4) E-C-A-D-B

173 Rub gf® f4fs mu s

s | @ cnRiceztng $+1Bafs a1 wiegsiBafs
SFFOIa Hrseen Rigiss g

faafts I : wiRicesn g2 e s a5
Gt Bl A S die wna ey
S A% e Biisa 54;

(1) Pl [ aas faqfs 11 Sums ga

(2) P 193 g fAafs 1 ga

(3) Pl Ig= g Fafe [l Al

(4) fa3fo [ was gl 11 Swins a5

174 ©ife=1 1 a3 s aifss 11 =

wiferar 1 eiftrsr 11
A. 3usEe AfF _ L sstlreHIfY SR
B. Raiensd 1. ‘®BrEwme
C. usuBurne (&6 M. IEEeEam
' (Widal test)
D. @SSt IV. wI% AEs

N6 2ms EHaFesis i (A ﬂ%%aa fiea 34
(1) A-L B-IIL, C-II,D

(2) A-III, B-I, C-II, D-IV

(3) A-IV, B-II, C-III, D-I

(4) A-1, B-1V, C-III, D-1

175 @itz 1wz siee iy 1 caeng:

oiftrar 1 oIt 11
A. ®IRWaY 1. =91F
B. faaiiicaiie 1.  Rpusny
C. [Huay 1. eSS
D. wiRwEfaaihs V. ansisia

Rites FPspesiaffst cats > OGS Riaee A
(1) A-1V, B-lII, C-1, D-11
(2) A-II, B-1, C-1V, D-ll
(3) A-ll, B-1V, C-111, D-1
(4) A-l, B-lII, C-II, D-1V
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List 11
[ixpiratory reserve

16 Match List | with List I

_1 List | I

oxpirato
. E':p}zllﬁily ? volume + Tidal
volume +
Inspiratory reserve
volume I
- jonal 1. Tidal volume +
B- ijlzicll:g?lm Expiratory reserve
Eﬁncit}* volurle ,
s i 1. Tidal volume +
C. vital capactty Inspiratory reserve
volume
- V. Expiratory reserve
; Inspiratory V0|‘:JITI€: + Residual
capacity volume ‘
Choos€ the correct answer from the options given
pelow V. D-I
-]Il, B’llg C" E
gg ﬁ-n, g1, C-1V, D-1II
(3) A-l, B-1l11, c-11, D-1V
AL BV, G 111
- factors will not affect
ich one of the followIng <
17 the ﬁardy—Wcin.berg equallbrlum?
Genetic drift

9) Gene migration

) Constant gene pool

8; Genetic recombination
:st | with List Il :
I8 Mall.?:tlfls List II _
Lipase _ Peptide bond
B' Nuclease 1. Ester bqu
" Protease  Glycosidic bond
D' Amylase IV. Phosphodiester bonq
bhoose the correct answer from the options given
hl'3 }EOWA:—]]I, B-1I, C-I, D-IV
T 5 I D

the following is not a component of

179 Which of
Fallopian tube?
(2)

(1) Isthmus Infundibulum

(4) Uterine fundus

(3) Ampulla
180 Match List I with List IL:
List I List IT
A. Non-medicated IUD I.  Multiload 375
B. Copper releasing IUD II. Progestogens
C. Hormone releasing IUD 1III.  Lippes loop
IvV. LNG-20

D. Implants
Choose the correct answer
I(:ﬁow :
A-lL, B-1II, C-1V, D-II
(g) A-IV, B-I, C-11, D-III
h) A-lll, B-1, C-TV, D-1I
) AL B-I, C-I1, D-IV

from the options given

I )
76 i |y e
LR

l!]’ﬂ,‘ 411
L:! 1 L B “‘_l“'“
A g ey

Mg () Fataai
P g
L S

sy LA P Asparf
. Stfaner
. A A, P :
3. Iplem1a 1 it A13] "“7{'.1:,:4 1051
LAy ana CHAE quy g,
if.‘”:”[;],ﬁ'e, i"‘:"-ﬂ:“ . NGRS
; ok Hlrsrg
C. =1y =i4as a1 ] I v,
@I Bral ©ENE A afg
F1s113 3’:7:‘:;31 i
) ] a% 4 Y
D. g~ SEIO! I I g ,,,",l"ﬁ"m""
EChIBICIE] i qu;r-_:
= b ]
#1513 AR+ A

\ DAL A1) AT
Rits s faF=stof (1 Alds Toa p.i-.g:;lﬁq 4.-:']:31

1) A-lIL B-II, C-IV, D-I
2)  A-ll, B-l, C-1V, D-II1

3)  A-l, B-IIL, C-11, D-1V
Ezi A-II, B-1V, C-1, D-III
Ri6d @ble TS = Y-BBAAI FIAH HOIHG 25

177
(1) o e R
(2) Rae1o BRG]
(3) @ A EEE Reret 3
(4) Raso1o spetiey ¥
178 oiftrst | ad A Ol 11 caret1
o1t I wifert 11
A, aAIBeTS _ psiBIRY A
B. Riof#as [I. @I 44
C. e [ snRe@rnais 3=
FACPIGIR WibE Fee

D. STHIB LTS IV.
fRted F=e 3 (AP A3+ Tod fRibe 34 :

A-IIL, B-I1, C-1, D-IV

2 A-Hy B"IV: C- 5

3) A-lV, B-L, Cc-111, D-II
4) A-IV, B-II, C-11I, D-I
fiied @1 —L el s I S ?
(1) BaAAu
(2) BawERyEA
(3) w@rnreEl
(4) BEBARA PO
4 spewe wifkt [ ETES

179

180 oifsar Ia
wiftra1 1 wrtrar 11
A, Guf-RRE . wifeeeny 375
IUD
' B. orafizagasiE II. HcsEsIse
IUD
C. = WA [1. faesta 3%
1UD '
D. Sus=ees 1IVv. LNG-20

Riesa et (s A5 o e 4 :
gl) A-L, B-11I, C-1V, D-II
2) A-1V, B-I, C-II, D-11I
E3 A-lI1, B-1, C-1V, D-II
4) A-III, B-1, C-1I, D-1V

R§_Bengaj;
-bengali+Englj
nglish | 41
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181

183

184

185

R6_Bengali+English |

virnone”?

owing is not a steroid he
(2) Progesterone

(4) Cortisol

W hich of the foll
(N Testosterone

() Glucagon

The following diagram show ing restriction sites
i E-coli cloning vector pBR322. Find the role of

‘\“and °) genes:

EcoR1-Clal Hindam

\

Pvu Il
The gene ‘X" is responsible for controlling
the copy number of the linked DNA and “}”
for protein involved in the replication of
Plasmid.
The gene ‘X’ is for protein involved in
replication of Plasmid and ‘}” for resistance
to antibiotics.
Gene X is responsible for recognition sites
and ‘Y’ is responsible for antibiotic
resistance.
The gene ‘X" is responsible for resistance to
antibiotics and ‘Y~ for protein involved in
the replication of Plasmid.

(1)

(2)
(3)

(4)

Which of the following is not a natural/traditional
contraceptive method? ;

(1) Periodic abstinence

(2) Lactational amenorrhea

(3) Vaults

(4) Coitus interruptus

Given below are some stages of human evolution.
Arrange them in correct sequence. (Past to

Recent)

A. Homo habilis

B. Homo sapiens

C..  Homo neanderthalensis

D. Homo erectus

Choose the correct sequence of human evolution
from the options given below :

(1) B-A-D-C (2) C-B-D-A

(3) A-D-C-B (4) D-A-C-B

The “Ti plasmid” of Agrobacterium tumefaciens
stands for

(1) Tumor independent plasmid

(2) Tumor inducing plasmid

(3) Temperature independent plasmid

(4) Tumour inhibiting plasmid

42

£

182

183

184

185

rar g sl ST S 4UANT 3 0
(1) TRiSroiga (2) sraRe
(%) E il L

(3 s L
Rrisg Rl Bt @ifre 0e@4 pBR 32294 re

‘YT aarl a3 a1= !’f‘:-ﬂ arq x4

Ecor1—Cla [ Hind M
G

F\-ul\
Pt 2

Pvu 1

(1) X Rl Feaw DNA a4 githsy e Boggoeg
&) a4 ‘)Y suAthas gfeFAMsas arane
(31154 Sl

(2) X Rortld siifiy afofiBaais aame oty
el @4 * Y @infasaranie syilatdgiong s oy

(3) X Fosif® ~tara sanmietd @ar wEl a4} ey
airfesaiani®e sflotareag s=r sl

(@) X Foal® emilsaonie gibuased s= mi

adqe ‘Y sty iGRIBa-ie 44mo SR e
wredll
Ritsd td1eil® dipfod/ fhatiblo TS die 43
(1) sanuer Fi4is
(2) y=fisstdasi gsznm
(3) w'®
(4) =iwo qdo
2106 3rer Padter Hialbi® s1aa i el gt 31134
DI EA(Fs10 Gatd 4SUI) A1ty
A. e gnfAler
B. =i il

C. ¢RIl Rreatets12tieiei 3o

- D. e B
Ricbd Praestsfir caid i34 Bad Lifibel o
(1) B-A-D-C (2) C-B-D-A
(3) A-D-C-B (4) D-A-C-B

oIeetranpean BeaceRast w4 T sl 14 3™
a0 23l

(1) (B spag sy

(2) [B®ud swidp sl

(3) oI 2y iy

(4)  [o@ann smia-e iy
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Rﬁ_Bengali.,.E“glish |

U0 wP

Section-13 (Q. No. 186 r"_iil_u'f' . ]

Match List I with List Il :

List 11
SnRNPs

List 1

RNA polymerase 111 I
Termination of
cranscription
splicing of Exons M, ‘Ris fastoe
~ TATA box IV 'SnRNAL, i
Choose the correctanswer from the options given

Il.  Promotor

below :
(1) A-111, B-1L, C-1V, D-I

(2) A-l11, B-IV, C-I, D-II

3) A-TV, B-111, C-1, D-II

4) A-I1, B-1V, C-I, D-1lI

Regarding catalytic cycle of an enzyme action,
the correct sequential steps :

select ]
me complex formation,

A. Substrate enzy _ _
B. Free enzyme ready to bind with another

substrate.
C. Release of products. |
Chemical bonds of the substrate brokenr. :

D- L - -
E. Substrate binding to active site. %
Choose the correct answer from the options given

below : ]
(1 A, E,B.D,C (2) B,A,C,D, E
3) E.D, C,B,A (4 E A,D,C,B

Choose the correct statement given below

regarding juxta medullary nephron.

(1) Renal corpuscle of juxta medullary nephron
Jies in the outer portion of the renal medulla.

(2) Loop of Henle of juxta medullary nephron

(€)

runs deep into medulla.
(4)

Juxta medullary nephrons outnumber the

cortical nephrons.
Juxta medullary nep
columns of Bertini.

hrons are located in the

Given below are two statements :

Statement I ': Mitochondria and chloroplasts are

both double membrane bound organelles.

Statement IT ; Inner membrane of m itochondria

is relatively less permeable, as compared to

chloroplast.

Inthe light ofthe above statements, choose the most

appropriate answer from the options given below:

(1) Both Statement I and Statement II are
Incorrect.

(2) Statement I is correct but Statement I1 is
Incorrect. .

(3) Statement I is incorrect but Statement I is

correct,

(4) Both Statement I and Statement I are correct.

43

186

187

188

189

A.
B.

C.
D.

- 3)

LCTE

"{:f‘;‘::d T GIRLAL I a1y -
RNA A 1 i
ﬂfbﬂ:w;,—,‘ 1
G115 1mer gy i I
QYA 35473 e
TATA an

BIRsa 1)
snRNPg
LR

. Rhonw

IV.  SnRNAs,
P tRNA

'i:t.b IS FAamstgf i i34 Yo Riimet o

(1) A-III, B-11, Cjv, D-1 )

(2) AL, B-1V, C-1, D-II

(3) A-IV, B-III, C-I, D-1II

(4)  A-II, B-1V, C-1, D-III

AFE TGt oopitet wlad Aisegfi '

. 7! Blbd A1st5foia 3154 alsan
A.
B.

GGt wifter Al

& U6 wistd N A6 LSYAR T
il HIGo|

Gesta mcard il

st APNNRD FesEl (ST A1)

TeEietHd AlFN sate GNREa Assive

vl
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A. Mesozoic Era I.

B

C. Cenozoic Era
D. Paleozoic Era .
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Given below are two statements :

Statement 1 : Gause's compelitive exclusion
principle states that two closely related specics
competing for difTerent resources cannot cxist
indefinitely.
Statement 11 : According to Gause's principle,
duringcompetition. thein ferior will be eliminated.
This may be true if resources arc limiting.

In the light of the above statements, choose the
correct answer from the options given below :
(1) Both Statement I and Statement Il are false.
(2) Statement I is true but Statement Il is false.
(3) Statement | is false but Statement Il is true.
(4) Both Statement I and Statement Il are true.

The following are the statements about non-
chordates :

A. Pharynx is perforated by gill slits.

B. Notochord is absent.

C. Central nervous system is dorsal.

D. Heart is dorsal if present.

E. Post anal tail is absent.

Choose the most appropriate answer from the
options given below :

(1) A,B&Donly (2) B,D&Eonly

(3) B,C&Donly (4) A&Conly

Match List I with ListII :
List I

Exophthalmic I.
goiter

List II
Excess secretion of
cortisol, moon face &
hyperglycemia
Hypo-secretion
of thyroid hormone
and stunted growth.
Hyper secretion
of thyroid hormone &
- protruding eye balls.
Excessive secretion
_  of growth hormone.
Choose the correct answer from the options given
below : :
(1) A-IV, B-II, C-I, D-III
(2) A-IN, B-1V, C-IL, D-I
(3) A-II, B-1V, C-1, D-II
(4) A-1, B-III, C-II, D-1V

Acromegaly ik

Cushing’s I1L.

syndrome

Cretinism V.

Match List I with List IT : .
List I List IT

Lower invertebrates

II. Fish & Amphibia

TII. Birds & Reptiles

IV. Mammals

Choose the correct answer from the options given

below :

(1) A-IL B-I, C-II, D-IV

(2) A-l, B-II, C-IV, D-III

(3) AL, B-I, C-1V, D-II

(4) A-ll, B-1, C-lIl, DIV

. Proterozoic Era
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A-TV, B-I1, C-1, D-III

(2) A-III, B-1V, C-II, D-I
(3) A-III, B-1V, C-1, D-lI

(4) A-1, B-I1I, C-11, D-IV
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(1) A-1L B-I, C-II, D-1V

(2) A-l, B-II, C-1V, D-I11

(3) A-ll, B-I, C-1V, D-l1

(4) A-ll, B-I, C-I11, D-1V ~
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Given below are two statements :

199

200 Match List I with List Il :
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(3) ICSH, Leydig cells, Sertoli cells,

g E B e

{*h“(‘mnm 1 : The cerebral hemispheres are
connected by nerve tract known as corpus
callosum.
Statement 11 : The brain stem consists of the
medulla oblongata. pons and cerebrum.
In the light of the above statements, choose the
most appropriate answer from the options given
below :
(N !30tl1 Statement | and Statement II are
Incorrect.
(2) §tatement I is correct but Statement Il is
incorrect.
(3) Statement I is incorrect but Statement Il is
~correct.
(4) Both Statement [ and Statement I1 are correct.
Identify the correct option (A), (B), (C), (D) with
respect to spermatogenesis.
GnRH

L (A)
+ I
®) (©)
+ {
Androgens Factors
1 l
Formation of spermatids D)
(1) ICSH, Interstitial cells, Leydig cells,
spermiogenesis.
(2) FSH, Sertoli cells, Leydig cells,
spermatogenesis.

spermatogencsis.
(4) FSH, Leydig cells, Sertoli cells,
spermiogenesis

List IT

Heart muscles are

electrically silent.

Depolarisation of

ventricles.

Depolarisation of

atria.

T-P gap Repolarisation of
ventricles.

Choose the correct answer from the options given

below : :

(1) A-II, B-II, C-IV, D-I

(2) A-11, B-III, C-I, D-IV

(3) A-1V, B-IL, C-1, D-III

(4) A-L B-l1, C-1V, D-II

List I
P wave - L

QRS complex .

T wave III.

IV.
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(1) A-HI, B-II, C-IV, D-1
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(3) A-1V, B-11, C-I, D-11I

' (4) A-1, B-llI, C-1V, D-11
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